2 A

A

20
B
2

431,746

428,112

90,456

88,116

90,456

88,116

74,280

74,280

74,280

74,280

200,000& »21B « 128

200,000& »21H »23]

20,0003 #21H 23|« 12&

25,000 » 108 »23]

74,280
68,880
50,400

8,400
10,080

5,400

74,280

13,440

11,100

2,340

13,440

11,100

2,340

120,000 =122

25,000 *8AI 2+ 123
25,0003 *8AI2tx12&
25,000 x8AI 2+ 123
25,0003 *8AI2tx12&

25,000 *8AI 2+ 123

13,440
1,440
1,440

12,000

12,000
2,400
2,400
2,400
2,400

2,400

11,100

2,340

2,736

2,736

2,736

2,736

208,000& 122

120,000& » 101 2 %23

2,736

2,496

240

2,736

02

341,290

339,996

1,294

293,494

294,480

986

293,494

294,480

A 986

268,514

270,100

A 1,586




SN DES
o HHSAYAH (DL S)
Sl Ol 2| CREE))
_ _ pSNE e
SN EB -GS - MBAY - BES 0 & 24 o HRE2
01 JI=3 173,491 172,677 814
(=23) 60, 145
1. 52(3122) 2,961,3002! 1 122 35,536
2. 62(2652) 2,485,400 12122 29,825
3. 72(1452) 1,816,002 x2 122 43,584
4. 82(62%) 1,213,702 %2 « 12 29,129
5. 93(352) 919, 60021 2%+ 122 22,071
(4013) 13,346
1. §24g 160, 45,0002 #1/12 13,346
2 4% 27,663 30,264 £2,601
(2D2249) 10,739
1. AZe2ReY
7,457 %1541 208 122 10,739
(BoU+g) 16,924
BPVELTEN=) 1,684
ot DSsty 420, 79094 #1% #4)| 1,684
2. NE4Y 1,680
oh. BHSX 40,0002 +2% * 122 960
Lt. JIE 20,0002 +3% * 122 720
3. W24gotaz 6.600
Jb. 25104 13,0002 x224 122 3,120
Lt. 155101 44-201 0/t
80,0002 *1%* 122 960
Ch. 104101415440/t
60,0002 #1% #1224 720
2. 5110]4-10 018t
50,0002 *3% * 122 1,800
4. S22+ 70,0002 %72 * 128 5,880
5. plRYL AL 30,0002 *2% * 122 720
6. ABlZXYR4g 30,0002 %124 %128 360
03 FeUZ Al 12,480 12,480 0
1. ZUZ A 130,000 88 12 12,480
04 DEBEH] 12,120 12,120 0




re 02 kJ
10 0 0x
H0 o ofn

02 02

==y
==
0x
O

SN HB G (BH) - MRAY - BES Aro e Hlm= 2
1. WSS X 12,120
Jt. 53 140,000& 1H *12& 1,680
Lt. 6-7= 130,000& *3H x 12& 4,680
Ct. 8=0Ict 120,000 4«12 5,760
FEF | 16,015 15,940 75
. SE SO 160, 145,000 «1.2/12 16,015
JHAIXI A bl 26,745 26,619 126
. JHAIXI &I 160, 145,000& *16.7% 26,745
HRFAHI 9,920 9,320 600
22 YR =] 6,600 6,000 600
J22IHRFEY 550,000 x 1+ 123 6,600
It 2= AH| 320 320 0
AR FEY| 40,000 x8H 320
SEASIHEFAHI 3,000 3,000 0
FN2IHRFLIL 250,000& * 123 3,000
S L] 15,060 15,060 0
Mg PR 1,800 1,800 0
MG AR = 1,800
. & 150,000 1H x 12 1,800
ESE= ] 13,260 13,260 0
ESp= R 13,260
Jt. 53 250,000& 1H 123 3,000
Lt. 62 155,000 18123 1,860
Ct. 7= 140,000 2 *12& 3,360
ct. 8-9= 105,000& *4H x 122 5,040
47,796 45,516 2,280
=224l 47,796 45,516 2,280
2 Et2 FH| 24,656 24,576 80
At 2tel | 13,120 13,120 0
UBt=ZH|) 9,000
1. 282Gl 300,000& 8 2,400




SN D8S
I3 YH2IPY(DES)
Sl Jl=
_ _ _ MEc
SA B RI(BH) - HRAY - BAS O] & 04 Sl ko
2. HIZYR NS BE 00,0002 +122 1,200
3. FoS=ESZ=LIEX
30,0002 155 2 450
4. ABSENESEA 16&+10,000& 160
5. ZEIHEU 170,000 *4CH 18F A %53 3,400
6. SADIEH 130,000 * 1CH* 18t A 53] 650
7. LAREIEY
100, 0003 *1CH = 12F A %53 500
8. el&sdlcl=2 20,0002 x1CH~12& 240
(29+2) 400
1. & =3¢ 40,000 x1E~10 400
(22) 2,400
1olzgesssa A
5,000 x541x8EH « 123 2,400
(gx2) 1,320
1. 31 ED 55,0003 2CH =128 1,320
02 =323l 11,536 11,456
(BZRILHAN) 10,390
1. 2EZ 1,830
o, g 2508 +5021%122 160
Lt S7I 1,750 «8021 x 12 1,680
2. @R 650,000 %122 7,800
3. ot 40,000& «12& 480
4. B3NS 40,0003 *22 80
5. Betxe= 200,000& *12] 200
(AIEZHISXIHl) 1,146
1. =71 50,0003 *2CH 42 400
2. A=A 100,000 = 1CH 100
3. =l S X2 ==t
12,1002 123 146
4. BNAS 500,000& 500
202 O 20,640 20,640
01 =UW0oiHl 4,800 4,800
1. S 20,000 * 10 »2& x12& 4,800
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fAM: 2dS
MM FoldN HOTD(HA
cHel: E0IME S (el &2)
K- E3 .S (3H) - MBAY - B gggf; HRS2
24 699, 200 722,108 N 22,908
= N HOTR(EAS) 157,410 158,770 A 1,360
HEH2Y 157,410 158,770 A 1,360
BHE XI& 131,510 131,510 0
301 Let8Aa3a 131,510 131,510 0
05 S-2-tEese 131,510 131,510 0
| szsguss 21,360
Jb. JI2=Y 200,000& *37H x12& 88,800
Lt. &2 200, 000& *37H x23| 14,800
Ct. 3o &A=G 20,000& *»37H *23| x 128 17,760
2. BHE G 25,000 *203H *23| 10,150
OIXXHEIZEZ OS2 11,040 11,400 A 360
201 B9y 11,040 11,400 A 360
01 AtR22id] 11,040 11,400 A 360
(2et=24]|) 1,440
1. F=QIXEXAE 120,000 128 1,440
(BE4+H) 9,600
1. F=QIXXAE 9,600
Jb. ©@s)| &2 25,0002 *8Al 2Fx 12 2,400
L., JIna 25,000 *8A| 2tx12& 2,400
Ch, A=A 25,0002 *8Al 2Fx 12 2,400
ch. I} 25,000 *8A| 2tx 128 2,400
HAS X 2l 14,860 15,860 A 1,000
307 QIZ2to| A 2,860 2,860 0
05 0I2te&32 2,860 2,860 0
1. folAd| 2|t 220,000& x12& 2,640
2. HAFE DA T
110, 000& 101 A %23 220
401 AIEHIL 204 12,000 13,000 A 1,000
01 Al&bI 12,000 13,000 A 1,000
1. SARAISAIRA HHEH L 024
S B A 12,000,000& * 1Al 12,000
HHSAAY (AL ES) 541,790 563,338 ~21,548




SN BES
HE: #H2AAY (RS S)
ool ol 2| (5l &2
_ _ _ N E
SN B SRA(SIH) - MBAY - BAS 0l &k 24 o HlnE2
ol 2| 475,15 497,428 ~22,273
ol 2| 475,15 497,428 ~22,273
101 oIt 443,075 464,688 £21,613
01 JI=3 287,241 301,397 A14,156
(223) 265, 145
1. 52(3052) 2,961,300 12 122 35,536
2. 63(852) 2,395,900 %23 + 122 57,502
3. 72(1558) 1,862, 7002 58 x 122 111,762
4. 82(62%) 1,213, 700222 » 122 29,129
5. 92 (432) 973,90021# 1%+ 122 1,687
6. Jls582(1452) 1,627, 40021 %12 x 122 9,529
(4012) 22,006
1. 324+g 265, 145,0002! 1/ 12 22,006
00 g 47,959 48,907 £968
(2DH2249) 16, 108
I, A2tel2esg
7,457 %151 24128 « 122 16, 108
E-EPR=)) 31,851
I tESg 5,880
o X 40,0009 +6 % * 122 2,880
Lt. JIE 20,0002 %112 * 128 2,640
Ch FEOHAMIA) 30,0002 %1% *122 360
2. DAY 1,640
ob. 25 014 130, 0008 %2 *122 3,120
Lt. 20140]&4-2514 0/ 9t
10,0002 %124 %122 1,320
Ch. 15101 4-201 08¢
80,0002 42 122 3,840
2. 1040|4150/t
60,0002 32 122 2,160
OF. 5101 &-10& D) 2F
50,0002 283 122 1,200
3. QAR LY 30,0002 42 122 1,440
4. E224Y 70,0002 *1124 %122 9,240




SN BHE
B WYL AR (HYS)
o9l ol 2| Rk
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
5. AlgIEXE R+ 30,000 x3H «12& 1,080
6. HRSRAE 2,571
b, s3tiR(2resE)
2,512,1003 *1H x4 . 8%* 12 1,447
Lt. 682 (1752)
1,949, 7003 1 *4 8%+ 128 1,124
03 HMZAH| 18,720 20,280 A 1,560
1. AHZAYI 130,000 * 12 = 12& 18,720
04 nNEsE=xH| 18,360 19,800 A 1,440
1. nS2xH| 18,360
Jt. 52 140,000& x1H = 12& 1,680
L. 62-72 130,000 7 = 12& 10,920
Ct. 82 Olat 120,000 *4H x 122 5,760
05 Y&ESIHHI 26,515 27,822 A 1,307
1. &SIy 265,145,000 %1.2/12 26,515
06 JFAHRXI&YI 44,280 46,462 N2,182
1. JFAIXI & Y] 265,145,000 *16.7% 44,280
203 LREXY| 10,120 9,520 600
01 JI22g9YER=&| 6,600 6,000 600
1. JI2A2HE P RF&H| 550,000 x1H «12& 6,600
02 HIIMNMAR=AH| 520 520 0
1. I ERFRH| 40,000& %134 520
04 ENSIYERFEH 3,000 3,000 0
1. BEASHELRFAHI 250,000& =128 3,000
204 XA 21,960 23,220 A 1,260
01 NS PR=HAHH| 1,800 1,800 0
1. AHZHRFE| 1,800
o, sH 150,000 1 = 12& 1,800
02 AHZEZXHI 20,160 21,420 A 1,260
1. Mg 24| 20,160
Ji. 52 250,000& x1H *12& 3,000
Lt. 62 155,000 x2H = 12& 3,720




S IE-TE
mu: mMESAAY (BLE)
ch: QA2 A (ctel &
l:‘/\_l X~ xH C|—O|(§I j:”) }\-“C‘}\I.O'l HASX2 AFOH I|_‘|LI;=|_|‘:_ ot
. o= ° I T ° - (= S /= (L] 0:”{:'_% (=]
Ct. 72 140,000 5 128 8,400
ct. 8-9= 105,000 4 H «12& 5,040
66,635 65,910 725
2| 66,635 65,910 725
2 Bt2 ZH| 33,615 32,150 1,465
AtE 2teltl 15,675 15,010 665
UBt~=H|) 11,375
1. 2424l 300,000& »13H 3,900
2. B ZHRAMRESH 100,000& *12& 1,200
3. dIOIEBIEDIEH/EY
160, 0008 x50} 53] 3,750
4. MISEAMI EH/EHE
75,000 * 1CH*73] 525
5, FosESx==2&X 30,000& *30B0X 900
6. LSENE=EX 45,0003 »10BOX 450
7. eE&J|ela 20,000& *20J4 400
8. o1z0lg3 25,0002 * 1074 250
egag) 400
12 SRy 40,0002 %124 %102 400
(2H) 3,900
1 lEeesssazAY
5,000& x5! x13H x 12 3,900
23224l 17,940 17,140 800
(22322 < HA) 16,494
1. EZ 3,510
Db, et 2503 * 12024 x 123 360
Lt S7I 1,750& 1504 =123 3,150
2. SMRL D2 850,000& x12& 10,200
3. SAIEL Hot=E= 40,0003 «12& 480
4. JASFUIHIY S33EL 2
=N 10,0002 * 1000 2+ 123 1,200
5. HAS=0l ESSst&E4 22l
30,000 =1 A+ 12 360
6. EAMNERES 50,000& *23] 100




FAMEd
gl

X{ ZH -
S =

el Jl=2&l (982
_ _ bSNE =
N33 2 (3H) - NIEAIY - BHES A oH @;OH Hl =2
7. B ERE AL 200,000 *13] 200
8. SIHUAIR2 16,0002 *2CH*123] 384
9. MIOIEXHUBH 60,0002 *1CH*13] 60
(A& &Y S XIH]) 1,446
1. AL ES I 22 800,000 800
2. JASTOZSAIA $2| 24|
500,000 500
3. 2OIEQIAAE SX|E2H|
12,100 122 146
202 O] 30,720 33,360 A2,640
01 =2LHOIHI 9,600 9,600 0
1. 2ol 20,0002 x 10 «4H «12& 9,600
02 S MOIH| 21,120 23,760 A2,640
1. M| 220,000 8% « 122 21,120
405 KHAHE S 2,300 400 1,900
01 XIAMYESEFSH 2,300 400 1,900
1. AselsD| 2,300,00024 *1CH 2,300
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SN HAHE
HH: =0l BF HO T2 (HAS)

CHol: FOIME 29 CRE-E)
SM-EH . C(BH) - HRAY - B2 0f Ao %iﬁgfﬁ HRs2
s 482,847 461,403 21,444
F0 #EY Ho S22 (AAMHS) 67,564 68,914 21,350

FodH 249 67,564 68,914 21,350
s.8& X2 62,040 63,390 21,350
01 ABEHS 62,040 63,390 A1,350
05 S-c2l-ctEeEsEs3 62,040 63,390 A 1,350

1. EZ49Y 2y 59,040
ol 200,000& 18+ 12 43,200
L. &= 200,000& 18 x23] 7,200
Ch.3lo&ag 20,000 18 »23| 123 8,640
2.9t 84 25,0003 x60H 23| 3,000
FUNXHHEZ OS2 S 3,600 3,600 0
201 LEH23H] 3,600 3,600 0
01 A= 2ell 3,600 3,600 0
(fet=EHl) 1,200
1.=0XXIEH2EH 100,000& 123 1,200
(28=4) 2,400
1.FUNX A2 A =S 2,400
JbMMHYEEna 25,0003 *8A| 2tx12& 2,400
AR Xl 2e] 1,924 1,924 0
307 21201 1,924 1,924 0
05 QIZtREZ 1,924 1,924 0
LRI RN 142,000 122 1,704
2 HANFIGEY B L4
110, 000& * 101 A +23] 220
HY 22U (BAS) 415,283 392,489 22,794
el | 369,210 349,169 20,041
ol 2 oyl 369,210 349, 169 20,041
101 ol | 341,250 322,649 18,601
01 JI=s 220,409 210,544 9,865
(23) 203,454
1.5=(30& &) 2,961,300 x1Z ~ 123 35,536
2.62(3053) 2,576,200 x1H 123 30,915
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SN EHS
B NS AAH (HAS)
CHel: o2 2ol (S92l &8
_ _ _ N E
SN -BH - S(B) - MRAY - BES 0f &k Gl o HlmE 2
3.72(1552) 1,862,700 3%« 122 67,058
4.82(622) 1,213, 7002 *42 <122 58,258
5.92(4532) 973,900% * 1% * 128 1,687
(&012) 16,955
1.83249 203,454,009 %1/ 12 16,955
02 +g 35,798 32,373 3.425
(2H224E) 13,423
LR
7,457 %151 2h%10% * 122 13,423
o 4gf) 22,375
1.0t54g 4,080
IR e 40,0002 x62 * 122 2,830
L. JIEf 20,0002 +5% * 128 1,200
H24g0H3 8. 160
Ok .25 01 130, 0008 +2% » 122 3,120
Lt. 155101 &4~201 0] 8¢
80,0002 *4% * 128 3,840
CH5S014~10910/2F 50,0008 «22* 128 1,200
EIEERE 30,0002 +2% * 128 720
s22+g 70,0002 +92 122 7,560
NEE =L 30,0008 12128 360
HeZRe+g 1,495
o530 (3152)
2,595, 3002 12 +4. 8%+ 122 1,495
o g Al 15,600
HoUZ Al 130, 0008 102 * 122 15,600
s=2 x| 15,120
s xy 15,120
o532 140, 00021 *12f » 12 1,680
Lt.62~72 130, 0002 *4% » 122 6,240
C+.82 015t 120, 0002 +52 + 122 7,200
BB 20,346
=ESIE 203,454, 0002 1.2/ 12 20,346
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SN EAS

HE: BH2SAY (M AS)
ool ol 2| (50 &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Aol Ofl At ot Hws2
06 JPHXIRH] 33,977 32,457 1,520
1P X2 bl 203,454,002 *16. 7% 33,977
203 UREXY| 9,960 9,360 600
NPIEEEEEEY 6,600 6,000 600
1oy e =AY 550,000 1%+ 122 6,600
02 HRIMIYREY| 360 360 0
| HAI MRS 40,0002 <0 360
M SHSYALFTY| 3,000 3,000 0
| EARYYR =AY 250,000 +12% 3,000
204 ML 8,000 17,160 840
NEEEEEESEDN 1,800 1,800 0
| HZARF Y| 150,000 %124+ 122 1,800
02 MNZ2XEH| 16,200 15,360 840
IEELES 16,200
053 250,000%! 12 * 122 3,000
Lt.62 155,000 %124+ 122 1,860
Ch.73 140,000 *3% + 122 5,040
2t.82-93 105, 0002 *5% + 122 6,300
o=y 46,073 43,320 2,753
BT 46,073 43,320 2,753
201 L2yl 20, 153 20,040 13
01 AFR2elt] 10,664 10,616 48
(Lur2gH) 7,564
R 300,0002 +9% 2,700
20U ZARANREE 100,0002! +12% 1,200
3.HOINIRE El/C8
180, 0002 *5CH *35] 0% 2,160
4.7=01S2SE2UZE]
30,0002 1. 580X 122 0% 432
5.OLEUNLZESLEX
45,0002 * 180X 121 +80% 432
6.01=)2l= 20,0002 +1CH* 122 240
EPIEETEX P
25,0002 x274x23| 100
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SN EHAS
HE: BH2SAY (HAES)
Sl Jl2 | (5l &2
_ _ _ N E
SN - BE - GR(SH) - MBAY - BES Aboy e 2
8. M AE L 100,000 1 CH 33! 300
(2g49) 400
L YEHLY 40,0002 12102 400
(SzH) 700
1ol esssS2g A
5, 00024 +541 492 122 700
02 B2 489 9,424 65
(2223 2 WA 124
ewe 256
O 2t 25021 10021 +122 +B80% 240
Lt. S0 1, 7502 %12024 % 122 *80% 016
2.7 350, 0002 * 1224 *80% 360
3.4+ EE 30,0002 * 122 +80% 283
4 BANLRY 40,0002 +23] 80
5ESEHAS 140,0002! %13l 140
CEED 529
AR 1,300 %4 £ *6A] 20702 *70% 529
(A ZEHISXIH) 1,836
IE=WEE 1,200, 0002 1,200
2. 2AE B 100,002 14 100
3. 8 Y| 100, 0002 14 100
4,447 50, 0002414 50
5.4 20,0002 *1CH*122 240
6. =01 EHOIA| A S| 24t
12, 1002 122 146
202 oft 25,920 23,280 2,640
01 =UHolb 4,800 4,800 0
1. 201 8] 20,0002 102 %22+ 122 4,800
02 2o 0iH| 21,120 18,480 2,640
1.2 201t 220,000% +8% * 122 21,120
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SN EARS
Mo F0l #F HO T (HME)
el FRMHEY CRE-E)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
Hates 508,361 481,572 26,789
F0 MY HO T (HAM2E) 98,320 96,120 2,200
FRHHEZSH 98,320 96,120 2,200
s.82t&8 XA 76,160 77,160 A 1,000
301 Lptsazg 76,160 77,160 21,000
05 S-c2l-ctEeEsEs3 76,160 77,160 A 1,000
1.SEHE =2 X ESH| 72,160
ol 200,000 x22H «12& 52,800
L. &3 200,000 #22F *23] 8,800
Ch.3lo&ag 20,000 22 *23| «12& 10,560
2.8t 25,0003 x80H *23| 4,000
FOUNXNHHEZZ NS 29 10,800 11,100 A 300
201 Let3H| 10,800 11,100 A 300
01 At 2eld] 10,800 11,100 A300
(2eEt=2H|) 1,200
1.2 X EH 23| 100,000& = 12& 1,200
(29=+4) 9,600
1.FUNX A2 A =S 9,600
Jb AEE WA (A) 25,0003 *12A1 2t 12 3,600
L. 2AEEH WA (B) 25,0002 *12A1 2+ x 128 3,600
Ch.2204a 25,0003 *8A| 2+x12& 2,400
AR Xl 2e] 11,360 7,860 3,500
307 glz2told 2,860 2,860 0
05 BIZIRIE S 2,860 2,860 0
1.2o3 a2+ 220,000 = 12& 2,640
2. NIt AT
110,000& * 101 A +23] 220
401 Al&HIZL20HYI 8,500 5,000 3,500
01 Al&b| 8,500 5,000 3,500
1LEM2SSIEA(1.25) B3 At
8,500,000& * 14l 8,500
HH2AIHH| (BA2S) 410,041 385,452 24,589
ol 2| 359,252 341,759 17,493
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S B2
LB EEEELTE R
el 2| (el =
SN EB -GS - MBAY - BES 0 & 24 e HRE2
eI =2l 359,252 341,759 17,493
101 el 331,292 315,659 15,633
01 Jl== 211,284 203,528 7,756
(22) 195,031
1.53(2828) 2,919,300& x1H x 123 35,082
2.63(238 ) 2,395,900 x1&8 122 28,751
3.72(1528) 1,862,700 x3H x 12 67,058
4.82(68=) 1,213,700 x2EF 122 29,129
5.98(488) 973,900 38 x12& 35,061
(&03) 16,253
1.82=¢ 195,031,0002 *1/12 16,253
02 =% 37,213 34,248 2,965
(ZnU22R2Y) 13,423
LAIRAZRE
7,457 %151 2Hx10F « 128 13,423
(Houag) 23,790
1154 5,280
Jb B Xt 40,0002 «6H « 122 2,880
Lt.JIEt 20,000& 10~ 122 2,400
2.82xEts 7,560
Jb.25E 0] &t 130,000& 1H 122 1,560
Lt.20E 01 & 110,000& 18 x12& 1,320
Ct. 154 0 &~20= 0] 2t
80,000& x3E 122 2,880
ct.58 01 &~108 012t 50,0003 x3Z 12 1,800
3.UEHRY 30,000 x2EH « 123 720
4. 522=E 70,0003 9% «12& 7,560
5. A ESXYRY 30,000 x1H~122 360
6.UHRERE=E 626
o B2 (65 )
1,085,200 1 4. 8%+ 122 626
7. A EESE 1,684
. nsstd 420,7903 x1H %47| 1,684
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SN A MS

M #H2AFHI(BL2S)
el 2| (298

L) CHRAY - S sl e HlRE2
03 ZEHZAH 15,600 14,040 1,560
ZAg A 130,000& «10H x 123 15,600
04 WE2 x| 15,120 13,680 1,440
e 15,120
t.53 140,000 1H x 122 1,680
Lt.6~7= 130,000 4 x12& 6,240
Ct.8=2 015t 120,000 *5H x 12 7,200
05 ZEFIH 19,504 18,788 716
FEF | 195,031,000&*1.2/12 19,504
06 JHAIXI&H] 32,571 31,375 1,196
JEARIA I 195,031,000& *16.7% 32,571
203 €RF=&d 9,960 9,360 600
01 JI&224dy 6,600 6,000 600
Ja2d Y 550,000& x1H«12& 6,600
02 FJIety 360 360 0
It 40,0003 x9H 360
04 BEA2EY 3,000 3,000 0
PA2EEEF 250,000& 123 3,000
204 XNSHAH 18,000 16,740 1,260
01 MNMSYUR 1,800 1,800 0
Nz 1,800
.= 150,000 1H x 122 1,800
02 Az=2x| 16,200 14,940 1,260
ESEe N 16,200
t.53 250,000& 18122 3,000
Lt.6=2 155,000 1 x 122 1,860
Ch.72 140,000& *3H 122 5,040
ct.8~9= 105,000 5% »12& 6,300
& 50,789 43,693 7,096
=224l 50,789 43,693 7,096
201 ZEH2IH] 22,119 20,413 1,706
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SN RS
T3 HHSYHI (LS
£9l: Ol = 2| (9l E e
SA B RI(BH) - HRAY - BAS 0l & e bl m =2
01 ARl 10,546 9,784 762
(Ler=2Hl) 7,446
LBNEYS2| 300, 0002 +0% 2,700
2.0HZERANEES 100,000& = 12& 1,200
3.2180el= 20,0003 44 x 12 x80% 768
4.0l MEH 100, 000& 4Ll «32] x80% 960
5.dI0IMEE 130, 000& 4Ll x32] x80% 1,248
6.FUSESZ==L=sEA 30,000 *10Box 300
7.0UEYHLZESHEN
45,0003 *6Box 270
(29+2) 400
1.2 . =828 40,0003 x1E~10& 400
(B2) 2,700
LolEgesgs 2|
5,002 x54 x0% x 122 2,700
02 ===4l 11,573 10,629 944
EELEER) 7,520
.82 2,820
Jh.eet 2503 x1004 x 123 300
Lt SII 1,750 «12024 «12E 2,520
2.70|2 350,000 %122 4,200
3.&otr=g 30,000& 122 360
1.82NE2SS 30,0002 #23] 60
5. 8stx¥ a2 80,000& %12 80
(H24l) 2,184
AR A 1,300 *5 £ *6 Al 2k 70 *80% 2,184
(AIEZHISXIHl) 1,869
1.EAMNAS 1,273,000& 1,273
2.2ANEED 100,000% = 1CH 100
320120 N AR B4
12,1002 123 146
4.2 ==J] 50,000 «3H 150
5.015)) 200,000« 1T 200
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S S
T WH 2o (2 M)
&2l Jl2&l (e ®2
M- (B H) - HEAY - B2 Al OH &EIE Hn=2
o=\ T ° - = S = =5 O:H{ﬂ,% Lsa
202 (44l 25,920 23,280 2,640
01 =Wobl 4,800 4,800 0
1. =Wl 20,0003 102 x2H 12 4,800
02 AN 21,120 18,480 2,640
1.8 A0 220,000 «8H x12& 21,120
405 XHAHHS 2,750 0 2,750
01 Xt =SFHSHI 2,750 0 2,750
= =g=") 2,000, 000& *1CH 2,000
2. NEE2 150,000+ 14 150
3. 8o Xt 30,000& *204 600
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SN HU3E
M =0l #F MOl T2(AM3E)
cHel: Z0IME 29 (el &2
SN FHH S (3H) - HREAY - BES Ofl &+ 04 gggf; HRs2
43S 562,458 541,183 21,275
FO BN PO TR(AA3S) 118,940 122,440 A3,500
FOHH 29 118,940 122,440 23,500
s.8& X2 97,840 99,340 21,500
01 YuBAZ 97,840 99,340 A1,500
05 S-c2l-ctEeEsEs3 97,840 99,340 A 1,500
1S3+ 2 2| 91,840
ol 200,000 28«12 67,200
L. &= 200, 0003 »28H »23] 11,200
Ch.3lo e 20,0003 28 23| * 12 13,440
2.9t ¥4 25,0002 * 120 *23] 6,000
FOUXNXNEHEZOH 2 18,240 18,240 0
201 Let3H| 18,240 18,240 0
01 A= 2ell 18,240 18,240 0
(fet=EHl) 1,440
1.=0XXIEH2EH 120,000& 123 1,440
(29=+4) 16,800
1.2 XXIEE ZA=E 16,800
Db AELXHA(E) 25,0003 *8A| 2tx12& 2,400
Lh A=A (D) 25,0003 *8A| 2t+12& 2,400
Ch.oteual 25,0003 *8A| 2tx12& 2,400
et IIZHME 25,0003 *8Al 2tx12& 2,400
OF. A Ol B¢ 25,0003 *8A| 2tx12& 2,400
bt Z 208t 25,0003 *8Al 2tx12& 2,400
ALCE DA 25,0002 *BAI 2H+122 2,400
AT 22 2,860 4,860 A2,000
307 glz2told 2,860 2,860 0
05 QIZtREZ 2,860 2,860 0
1. 2oz 2eltid 2 220,000& *12& 2,640
2ENFIIGHNHSAE
110, 000& * 104 2 %232] 220
B 2 o 2| (& MBS ) 443,518 418,743 24,775
QIR A 387,877 366,375 21,502
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SN EARS
MM HESHHH| (B ABS)
o QlE2AHY| (&te &2
_ _ _ HE T =
2N -3 - c2(3H) - NEME - HES 0f] AboH Ol AF o8 Hon=s2t
ol 2| 387,877 366,375 21,502
101 QI 359,277 338,795 20,482
01 J|1=22 232,148 216,649 15,499
(23) 214,290
1.52(2852) 2,919,300 x 1H 122 35,032
2.62((2182) 2,328,000 2% » 122 55,872
3.73(165 ) 1,907, 1009 x3H 122 68,656
4.83(652) 1,213,700 x3H « 122 43,694
5.98(358) 919,600 1H x 122 11,036
(A 2) 17,858
1.824¢ 214,290,000 1/12 17,858
02 g 39,073 38,029 1,044
(2222 13,423
1A 2Ry
7,457« 15A1 2H+ 10 * 122 13,423
(ESRLES =) 25,650
IDUEET == 1,890
Ot =&t 51,4002 12 40| 206
L. DS8HA 420,790 x 1% %47| 1,684
2.0tELG 6,720
Ot HH S Xt 40,000 +6H x 122 2,880
Lt.JIE} 20,0002 * 16 *12% 3,840
3.H2LEIAS 8,040
Jt.25E 0] & 130,000 *1H * 122 1,560
Lt.20E O] Ab~25 0] ©F
110,000 x2H x 122 2,640
Ct. 15 0] At~20 0] ©F
80,0004 2L »12& 1,920
2t. 108 0l At~15H 0] BF
60,0002 1% «12& 720
0F.54 0] &~10= 0] 8t 50,0009 2+ 122 1,200
4.0 30,0002 *3% » 121 1,080
5.5284 70,0004 0% » 122 7,560
6. A =2 X2 30,0002 1% «12& 360
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SN A M3

M HH2AHHI(BA3S)
el 2| (298

L) CHRAY - S sl e HlRE2
03 ZEHZAH 15,600 15,600 0
ZAg A 130,000& «10H x 123 15,600
04 WE2 x| 15,240 15,120 120
e 15,240
t.53 140,000 1H x 12 1,680
Lt.6~7= 130,000 58 »12& 7,800
Ct.8=2 015t 120,000& *4H x 122 5,760
05 ZEFIH 21,429 19,999 1,430
FEF | 214,290,000 *1.2/12 21,429
06 JHAIXI&H] 35,787 33,398 2,389
JEARIA I 214,290,000& *16.7% 35,787
203 €RF=&d 10,000 9,400 600
01 JI&224dy 6,600 6,000 600
Ja2d Y 550,000& x1H«12& 6,600
02 JAItaH 400 400 0
It 40,0003 10 400
04 BEA2EY 3,000 3,000 0
PA2EEEF 250,000& 123 3,000
204 XNSHAH 18,600 18,180 420
01 MNMSYUR 1,800 1,800 0
Nz 1,800
.= 150,000 1H x 122 1,800
02 Az=2x| 16,800 16,380 420
ESEe N 16,800
t.53 250,000& 18122 3,000
Lt.62 155,000& 2 » 122 3,720
Ch.72 140,000& 3 x 122 5,040
ct.8~9= 105,000 4 »12& 5,040
& 55,641 52,368 3,273
=224l 55,641 52,368 3,273
201 ZEH2IH] 29,961 26,688 3,273
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S BM3S
HH: #N 2 AR (2 MES)
@ Jl23l (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
01 AtR22id] 14,385 13,302 1,083
(2et=24|) 10,985
1. 228 E 300,000& 10 3,000
2.0 ML 45,0003 x158F A 675
3.FUSESE=2E 30,000 #2552 A 750
4. H0IHEYH 100, 000& *4CH x4 3] 1,600
5.4I01 MEH 130,000 & *4CH x4 3 2,080
6.21&J|2l2 20,000 2l = 12& 480
7. HAE 90,000& x1CH*53] 450
8.2 AIIEY 150, 000& = 1CH*53] 750
9.0l8I =2 2 AL 100,000& x12& 1,200
(2gag) 400
1.2 584 40,0002 *1Z#102 400
(Sl 3,000
IPIEEEEN
5,000& 541 x 10« 12& 3,000
02 3294l 15,576
(2222 % HA) 14,230
eHg 4,230
. Bt 2503 * 15021 * 128 450
Lt. S 1,750& #1804 x 122 3,780
2. 80|22 700,000 x12& 8,400
3.40t 3 70,000& x12& 840
4. SENEES 50,000& *23| 100
5. 833 XH A 300,000& 13| 300
6.2 EHYANEZ 15,0003 2 x12& 360
(A& EHISXHl) 1,346
1. 8AMNA2 R 600,000& 600
2.2ANESED] 100, 000& * 1CH 100
3. 2T 50,000& *2CH 100
4. HHESEH 100,000& = 1CH 100
5. 8% 25,000& *2CH*63] 300
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SN A M3E
HE: H2 S| (& M3S)
cHel: J1=2 |
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ol Ak O
6. 20IStol Al A EY 12,1002 122 146
o1t 25,680 25,680
BT 7,200 7,200
2ot 20,0002 ¥102 %32 * 122 7,200
2204t 18,480 18,480
E=EGTE 20,0002 +7 * 128 18,480




20
B
2

481,055

482,479

97,500

97,590

97,500

97,590

76,360

76,710

76,360

76,710

20,0003 x22H 23| x12&

200,000& 22 122

200,000& »22H »23]

25,0003 x84 »23|

76,360
72,160
52,800

8,800
10,560

4,200

76,710

18,240

18,000

240

18,240

18,000

240

120,000 =122

25,000& *8AI 2+ 123
25,0003 *8Al2tx12&

25,000 *8AI 2+ 123

25,000 *8AI 2+ 123

25,0003 *8Al 2t+12&
25,000 x8AI2tx12&

25,0003 *8AI2x12&

18,240
1,440
1,440

16,800

16,800
2,400
2,400

2,400

2,400

2,400
2,400

2,400

18,000

240

2,900

2,880

20

2,900

2,880

20

220,000& 123

130,000& * 100 A %22]

2,900

2,640

260

2,880

20

383,555

384,889

N1,334
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SN .28
M #HSAAY (LB 1.25)
el ol 2ol (5l &2
_ _ _ N E
SN B SRA(SIH) - MBAY - BAS 0l &k 24 o HlnE2
oz 2y 332,590 334,228 A1,638
ol 2yl 332,590 334,228 A1,638
101 Q21| 305,890 308, 128 A2,238
01 JI=3 198,167 200,231 A2,064
(23) 182,923
1.52(3052) 2,961,3002 %12 *122 35,536
2.63 (245 2) 2,427 4002+ 12 x 122 29,129
3.73(1552) 1,862, 7002 38§ x 122 67,058
4.82(652) 1,213, 7002 %2 « 122 29,129
5.92(322) 919,6002 x2& * 122 22,071
(&012) 15,244
. ¥24Y 182,923,000 1/12 15,244
00 g 31,161 30,827 334
(2DH2249) 12,081
A e 2R sy
7,45721*15A1 2498 122 12,081
(B2 19,080
1otEay 4,800
ot B R 40,0002 *42 * 122 1,920
Lt Il 20,0002 ¥12& * 122 2,880
2. HDAYIINS 6,480
Jb.251 01 & 130,0002 124122 1,560
Lt.20 0] &t~25K D)
110,002+ 1%+ 122 1,320
C. 155101 &4~20 D)
80,0002 +12f 122 960
21011 0] &4~ 151 0| 2
60,0002 28] 122 1,440
OF.5E014~10E010F 50,0008 %22 x 122 1,200
3.olReieadg 30,0002 284 122 720
4528249 70,0002 %82 122 6,720
5. AtSI =X R 4 30,0002 12§ x 128 360
03 FuZAY| 14,040 14,040
=L =N 130,000 *98 +122 14,040
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SACE1.28
) dY2FHI(L01.28)
ool ol =gl (&2 &3)
FA R CA(EA) - NFAY - BYES Oll & <4 gl,'igig HlusZ
04 WSE2 2 13,680 13,680 0
TS 22 13,680
ot.5= 140,000 x1H =12 1,680
Lt.6~75 130,000 »4& *12& 6,240
Ct.8~95 120,000 »4E 122 5,760
05 SESIIH 18,293 18,483 A190
1.82F0tl 182,923,000 %1.2/12 18,293
06 JtAHIXI &I 30,549 30,867 A318
T.IHA X 28I 182,923,000 *16. 7% 30,549
203 YgRFay 9,960 9,360 600
01 JI2=SPF =4 6,600 6,000 600
1012238223 550,000 x1& *12& 6,600
02 FAIIMH S =AY 360 360 0
1.3 =4 40,0003 »9¥ 360
04 FAESHEFFIH 3,000 3,000 0
1.2AE3YFF2 250,000 x12& 3,000
204 XN 16,740 16,740 0
01 H¥=Sgs-a8dl 1,800 1,800 0
LAMSYR+A3Y 1,800
s 150,000 x1& *12& 1,800
02 ANZ=2xHl 14,940 14,940 0
1. A=2 2l 14,940
ot.5= 250,000 x1H =12 3,000
Lt.65 155,000 x1& *12& 1,860
.72 140,000 x3E » 12 5,040
ct.8~95 105,000 »4& 122 5,040
Jl2d 50,965 50,661 304
Jl23bl 50,965 50,661 304
201 LerE 3y 27,685 27,381 304
01 At=2eldl 10,202 9,913 289
(2et=2Hl) 7,102
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S 128
B #HL A2 (L R1.25)
&Rl Jl=Z 4l
S HE - S(EH) - NRAY - BES 01l &k o e
1. 2224l 300,000& 9L 2,700
2.HHIZIRANERES 100,000& 123 1,200
3.0 EH 100, 000 *3CH x4 3] *70% 840
4. d40IMEH 130,000 *3CH*42| *70% 1,092
5. 2AIIEH 130,000 * 1CH *32] «80% 312
6.2AMEIIEH 100, 0002 *1CH x23] *80% 160
7.8.=28X 30,0003 » 128 A *80% 288
8.LEFLSE+EX 45,000 »69F A 270
9.21&0(2l& 20,0003~ 1CH+12& 240
(2€+¢) 400
1.9 . =584 40,0003 *1H 10 400
(S4l) 2,700
12852 0AH
5,000& «541 0 »12& 2,700
02 =294l 17,483 17,468
(2322 & HA) 15,561
[ 2,550
Jb. Bt 250 +8024 123 240
L. &I 1, 7503 11024 x 122 2,310
2. 80|12 1,200,000 *12& *80% 11,520
3.4 .ot 60,0003 » 12 *80% 576
4. BZENERLZ2(ANESE) 50,000& *23] 100
5. 0IHYAMERZ 30,000& x12& 360
6. 832 a2 175,000& * 13| 175
7.XEEE 165,000 *1CH =12l 165
8. &I AN 55,000 «1CH* 12 55
9.2PNMHRL S (SHEXE)
30,000 x1CH*12] 30
10.UHSA(SBE )
30,000 *1CH*13] 30
(A& &HISXIl) 1,922
1.8 YSsEl 100, 000& *1CH 100
2. 8NHE 500,000& 500
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2A: 31.28
B HESAAY (L B1.25)
&Rl Jl=Z 4l (el &)
_ _ _ Muo
SA B HRA(SH) - MRAY - B 0 &t o4 e HIREY
3. d2=7] 30,0003 »2CH 12 *80% 576
4 Xt (OFA "], =8 K Xl
100,000 *1CH 122 «50% 600
5. 2= A AR S K| & =]
12,100& x123 146
202 Oddl 23,280 23,280 0
01 3L 4,800 4,800 0
1. =2 b 20,0003 102 x2H «123 4,800
02 HNHI 18,480 18,480 0
1.2 A0 220,000 7 x 122 18,480
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SN CEss
B =0 #F BO £2(L-R3S)
cHol: FOIME2Y (et9l: &2
S FB SR (E) - NRAY - Be S 0 &t Soe RS2
C33s 447,517 451,149 N3,632
=0 #A Ho SR2(LJ3S) 78,794 78,554 240
FUde=29g 78,794 78,554 240
.83 K& 63,190 63,190 0
301 Et2A =3 63,190 63,190 0
05 &-cl-ttEes2ds 63,190 63,190 0
1.858=+¢ & 234l 59,040
2= 200,000& »18F x 128 43,200
L. &0 = 200,000& 18 *23] 7,200
Ct.alo+¢ 20,0002 x18H 23| x12& 8,640
2.8t8 =g 25,0003 83 23| 4,150
FOUNXEEH 2208 29 13,440 13,200 240
201 LErEEH| 13,440 13,200 240
01 AtR2cidl 13,440 13,200 240
(Let==8Hl) 1,440
1.=0XXEH2YE 120,000 =122 1,440
(28=%) 12,000
1.=0NXIEEH Z2AE 12,000
Jb MO A 25,000& *8AI 2+ 123 2,400
Lh XY A 25,0003 *8Al2tx12& 2,400
CHE7mal 25,000 *8AI 2+ 123 2,400
ct.otena 25,0003 *8AI2tx12& 2,400
Oh.Rotwal 25,000 *8AI 2+ 123 2,400
MR 2 2,164 2,164 0
307 gIz2tol & 2,164 2,164 0
05 CIZtRE= 2,164 2,164 0
.20 23 2eliids2 162,000 « 122 1,944
2.BAEDI =T
110,000& » 100 A %23 220
HY2AZHI(-HA3S) 368,723 372,595 N3,872
I 2 326,568 330,858 24,290
el 2| 326,568 330,858 N4,290
101 1A 299,988 304,458 A4, 470
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SN R3S
X ZH: S
(= I

HE LA (=A3S)
chl: Q2 A (ctel: &
SNBSS - MEAY - BES 0l &k o4 e bz 2
01 JIE= 191,995 194,950 A2,955
(23) 177,226
1.52(3088) 2,961,300 x1H x 123 35,536
2.63(2653) 2,485,4002 1H 123 29,825
3.72(1288) 1,715,600 x3H x 123 61,762
4.82(62E) 1,213,700 x2H * 12 29,129
5.98218s8) 919,600 1H x12& 11,036
6.21s10=(338) 828, 1003 »1H «12& 9,938
(&032) 14,769
1.82=% 177,226,000 %1/12 14,769
02 =¢ 32,953 33,619 A 666
(=224 12,081

7,457 3 *15A 29 123 12,081
(g 20,872
1.t &E=4 5,160
b Ui Xt 40,0002 *4H « 122 1,920
Lt. JIE 20,0003 x12H 128 2,880
CHZ=JHAUH AR ) 30,000 x1&H~128 360
2. HHEHIEEE 206
. =8 51,4003 x1H #47| 206
3.82xEHt=s 6,000
Jb.25E 014 130,000 2& »12& 3,120

Lt. 15014 ™20 01 8t
80,000& x1H +12& 960

Ct.10& 014~ 154 0] 2t
60,0002 x 12 x128 720

ct.5E 014 T 100/ 8t
50,0002 #2& 128 1,200
4. Q3= 30,0002 x2& x 128 720
5.2+ 1,706

42U (308 S)

2,961,300& x1H %4.8%12& 1,706
6.52F=¢ 70,0002 x8&H 128 6,720
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SN L E3S
B WESAAY (- AUIS)
chl: Q2 A (ctel: &
SN C(BH) - NRAY - HES O] &k o8 L=t HlmE2
Ol &k
7 MBI 2NN LR 30,0003 *1H«12& 360
03 ZFAHZAH| 14,040 14,040 0
1. 8 MU Z A 130,000 *9H x 12& 14,040
04 nE2 =Ml 13,680 13,800 A120
1. nE2 Y| 13,680
t.53 140,000 1Y+ 122 1,680
Lt.6=2 " 7= 130,000& 4 H = 12& 6,240
Ct.82 " 9= 120,000 *4H 12 5,760
05 ZESFOHI 17,723 17,996 AN273
1.2 2 SFJtl 177,226,000&«1.2/12 17,723
06 JHAHIXIAHI 29,597 30,053 A456
1. b Rl 177,226,002 %16.7% 29,597
203 HRF&H 9,960 9,360 600
01 J|I22LHRFL| 6,600 6,000 600
1.J| 22 HRF8H| 550,000& x1E «12& 6,600
02 HAINMHRFEI 360 360 0
1.8 2Jtat g 2= A| 40,0003 x99 360
04 REN2ILRFLAY| 3,000 3,000 0
1.2N2IHRFAH 250,000& =122 3,000
204 AP AH| 16,620 17,040 AN420
01 HHMZHASAHAH 1,800 1,800 0
LIRSS Fe=geeRrepen e ul 1,800
.sE 150,000 *1H x 12 1,800
02 HsE2xl 14,820 15,240 A420
1. 822Xl 14,820
Jt.53 250,000& 1H 123 3,000
Lt.62 155,000& *1H = 12& 1,860
Ct.7= 140,000 3 122 5,040
ct.8=2 " 9= 105,000& *3E = 12& 3,780
Or.21s10= 95,0003 *1H«12& 1,140
Jl2& | 42,155 41,737 418
|
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SH: IS

M MY 2HAH(=RA3S)

&2l Jl2&l (e ®2
S . "M . O (5 SALO] . THA 2 Al OH HEE =2}
Jl=23&tl 42,155 41,737 418

201 Let3| 18,875 18,457 418
01 AtS2teldl 9,880 9,610 270
(get=&4dl) 6,780
1.2 2Z =2l 300,000& x9H 2,700
2.0HZSRANRES 100,000 = 12& 1,200
3.d0IMEH 100, 0003 «3CH 33 900
4. 40IMEH 130, 000 *3CH 23] 780
5.5 AMEX 16,0003 108 A 160
6.1 ZSENLY=EAX
45,0003 108 A +80% 360
7.Z0SESERYSET
30,0002 %208 A +80% 480
g8.21&JI2l= 20,0003 =104 200
(2osg) 400
1.9 SR LY 40,0002 124 %102 400
(2zH) 2,700
1ojEeeass 23
5,000 *541 x 9 12& 2,700
02 ==29gHl 8,995 8,847 148
(2322 < HA) 6,916
1.982 2,028
JF. et 2502 #1452+ 123 x80% 348
Lt. SII 1,750& *8024 x12& 1,680
2. 8012 390, 000& * 123 *80% 3,744
.43 40,000 x12& 480
4. EFMHRE S 40,0003 x23| 80
5. 0IHYAIEZ 16,000 20 = 12& 384
6.3 EH LR 100,000& = 13| 100
7.0 EXMAEE 100,000& *13] 100
(el=2dl) 583
T.AFR A 1,300 *2 4 *4 Al 2+*80L *70% 583
(Al &HIKXd]) 1,496
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3
N2 Y A (=
IR

0

S HE - S(EH) - NRAY - BES sk oy S
0f 4 o
1.EANHE 2,2423 «446 M 1,000
2. #¥Y 150,000 = 1CH 150
3. 2ALH 100,000& * 1 CH 100
4. 01 EXt 100,000& = 1CH 100
5.2¢el= HAE= 12,100& * 123 146
202 O4Hl 23,280 23,280
01 3LUWAbI 4,800 4,800
1. =Wl 20,0003 102 »2H 123 4,800
02 FHHOHI 18,480 18,480
1. 840 220,000 «7H x 12 18,480
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SH MRS
M F0l #F HO T (MAIS)
el FRMHEY (sl &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
AA1S 642,536 658,035 A 15,499
FOl AN HO T (AH2E1S) 112,354 114,354 A 2,000
FOIMdEHEY 112,354 114,354 A 2,000
SEEX 96,510 96,510 0
301 Let8Aa3a 96,510 96,510 0
05 S-2-HEEsEM2 96,510 96,510 0
1.8&88 2 &=Y| 88,560
o2 200,000& x27H «12& 64,800
(P = 200, 000& *27H x23| 10,800
Ch.3lol=4 20,000& 278 *23| x 128 12,960
2.8 & G 25,000 159 *23| 7,950
FOXXNEHEZ )SHSA 13,440 13,440 0
201 B9y 13,440 13,440 0
01 AtR22id] 13,440 13,440 0
(2et=2Hd]) 1,440
1.=0UXXME 29| 120,000 128 1,440
(BE4+H) 12,000
1. F0UXXAE ZAEE 12,000
b oAl 25,0002 *8Al 2Fx 12 2,400
Lt.old e 25,000 *8A| 2tx12& 2,400
Ch. Xk 1 & 25,0002 *8A| 2Fx 12 2,400
ch. =2 Al 25,000 *8A| 2tx 128 2,400
Of.&3R2uwa 25,000 *8Al 2Fx 12 2,400
HA R X 22 2,404 4,404 A2,000
307 QI2tolA 2,404 2,404 0
05 QIZIREZ 2,404 2,404 0
1. 2oAH e x== 182,000 x12& 2,184
2.AMEII#E==2 110,000& * 101 A %23 220
HHSAAY (MHIS) 530, 182 543,681 A 13,499
ol 2 A 470,854 482,240 A 11,386
ol 2AHH| 470,854 482,240 A 11,386
101 Q14| 439,194 449,920 N 10,726
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SN IS
BB B2 AAY (L2H1S)
chel: ol ol (S92l
_ _ _ N E
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl aton HRE2
TR 285,228 290,501 75,273
(2=2) 263,287
1.53(305%) 2,961,30021*1% » 12 35,536
2.62 (245 8) 2,427,400 x2H 123 58,258
3.72(188 ) 1,990,300 x4 F « 122 95,535
4.82(858) 1,330,900 x3ZE 123 47,913
5.98(638) 1,085,200 x2E 122 26,045
(&o=2) 21,941
1.82=¢ 263,287,000& *1/12 21,941
02 =g 46,708 47,861 A 1,153
(=222Y) 16,108
INEL R
7,457 3 x15 A1 2128 « 128 16,108
(B 30,600
1.t&5=4 6,960
b i< Xt 40,0003 x7E 128 3,360
Lt JIEFIES 20,000& 15 x12& 3,600
2.832x=EIt=3 11,520
Jb.25E 014 130,000& 2 x12& 3,120
Lt.20E 0l & 25 0] 2t
110,000& 2 x12& 2,640
C. 1514014 2010/ *
80,0002 2122 1,920
ch. 10014 153 0] 2t
60,000 x2Z 123 1,440
OL.5& 014 104 0] 2t 50,0002 x4 =128 2,400
3.0 RE 30,000 x3F + 122 1,080
452242 70,0002 112 122 9,240
5.8 =XgRsE 30,0003 x5 12 1,800
03 HAZAY| 18,720
1. 23U g A 130,000 «12H x 123 18,720
04 WE2 x| 18,240
1. WS 2| 18,240
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S AES
ME: WES A (MHIS)
Crsl: oIz e oty) oL
A BB O(B) - NEAY - BAS Of o e Hl R =2
t.53 140,000 1H x 12 1,680
Lt.6,7= 130,000 6 H *12& 9,360
Ct.8=0lI5t 120,000& *5H x 12& 7,200
05 ZEFIHI 26,329 26,816 A48T
1.2 &SIt 263,287,000&*1.2/12 26,329
06 JtAHIXI&HI 43,969 44,782 AB13
1. A X & 8l 263,287,000& * 16.7% 43,969
203 YRFL&H| 10,120 9,520 600
01 JI22IgRFL8Y| 6,600 6,000 600
1./ 22Z YR =4 550,000 x1H »12& 6,600
02 FRAIHRFEY| 520 520 0
1. EJAJNMERFE| 40,0003 13 520
04 BENM2ITRFLEY 3,000 3,000 0
1.2ASZ YR 250,000& x12& 3,000
204 XA 21,540 22,800 A 1,260
NIEEEEEEYE 1,800 1,800 0
Iuzox 1,800
.= 150,000& x1H = 12& 1,800
NS E X 19,740 21,000 21,260
A EXH| 19,740
ot.53 250,000 1 x12& 3,000
Lt.6= 155,000 2 *12& 3,720
Ct.72 140,000 *4H x 122 6,720
ct.8.92 105,000& 5 x12& 6,300
Jl23d| 59,328 61,441 A2,113
Jl=23tl 59,328 61,441 A2,113
201 Let3| 27,468 27,341 127
01 AtE2teltl 11,704 11,666 38
(ger29dl) 7,404
1. 22 =EH| 300,000& »13H 3,900
2. T HEH 160,000 & *2CH *33| *80% 768
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[P

02
Mo ox J¥
0¥ [HO

(|

Q 0

FHl(&2A1S)

=

A

CEE (S - MRAY - HAS

22
J2

3.0 MEH/EH

4.70E=SE22EN
30,0002 #1058} A %80%
5OUZHNMLIZEXN 45,0002 %65 A +80%

6.2AHE S22

1. A2
(A& ZBIsXdl)
TLEAMAS

2.BAESED

3. H YL TY|
4. 2440
5. &%

130, 0003 «2CH 33! *80%

90,000 » 1CH* 18+ A %35 %80%
20,0002 x1CH=12&

100,000& ~12&

40,0003 «1E+10&

5,000& x541 x13H 12

2503 20024 « 12 *80%
1, 7503 «15024 « 128

300,000& *12& *80%

400,000& »12& +80%
25,0008 122

20,0003 »22
100,000& 13}

16,000& 23| x 128

1,300& #4 £ x5 Al 2t+80L +80%

2,000,000&
100,000 = 1CH
100,000& » 1CH

50,000 #2CH

25,0003 *»4LH x6E *80%

624

240
216

216
240

1,200
400
400

3,900

3,900

15,764

11,174

3,630

480

3,840
300

40
100
384

1,664
1,664
2,926

2,000

100
100

480
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SAM A4S
g dY2IFHI(&H1S)
el D=3 (e M

il
x
0%
2
0
£
5
=
=
il
>
19
&
0x
fo
=
Pa
I
=1
R
2
==
E
Ol
0y

12,100& * 122 146
202 O 30,960 33,600 N2,640
01 2UWobl 7,200 7,200 0
1.2 o 20,0003 10 +3&8~12& 7,200
02 M0 23,760 26,400 A2,640
1.2 A 220,000 9 »12& 23,760
405 XtobESHI 900 500 400
01 L SESFHSHI 900 500 400
1.2 A 60, 000 *5H 300
2. 21 AT 300,000& 14! 300
3. ARE2T 150, 000& »2CH 300
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A AAS
HM: FOHHETD(AZA2E)
el =QIMH2S (Bt &)
i} _ _ bolEN=
2MH - 2 . H2(ZH) - MEAY - BES Fagel @;OH Hl =2
AtA 492,691 546,729 A54,038
ES HOE QR (AZH2E) 84,870 80,934 3,936
29 84,870 80,934 3,936
S INE] 69,950 70,250 A300
b A2 69,950 70,250 A300
E.2-BEss2A3 69,950 70,250 A 300
1.8&88 2 &=Y| 65,600
bolEsg 200,000 202 » 122 48,000
L. &3 200,0002 #20% x23| 8,000
Ct.3lol &gt 20,0002 x20H *235| x 122 9,600
BEEN 4G 25,0002 *87 X *23| 4,350
OINXAMEEZZON 29 11,040 8,400 2,640
UL A 11,040 8,400 2,640
AL 22 H] 11,040 8,400 2,640
UL 2H|) 1,440
1. =0 XILE 224 120,000 *12& 1,440
2L 9,600
1.0 X M 2 AL 9,600
IFATRUHA(ZEZ)
25,0002 *8A| 2tx 122 2,400
Lt AZETHA(ZEZ)
25,0002 *8A| 2tx 122 2,400
ChAZXHA(DZ)
25,0002 *8A| 2Fx 122 2,400
EI=3-{p] == 3m PN 25,0002 «8A| 2Fx 122 2,400
Xl2te| 3,880 2,284 1,596
012H0| & 2,380 2,284 96
oIzt Er2 2,380 2,284 9
LolzY| L2 180,000« 12& 2,160
HAMED| O E a2
110,000 * 1 A *23] 220
ASHI LR 1,500 0 1,500
Al Hi 1,500 0 1,500
1. XHX M B = A LE2HS X 1,500,000 1 Al 1,500
3 Hl (At H2S) 407,821 465,795 ABT7,974
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S MAHS
X XH: SHXA
(=R BN (==}

=1}
ol ole

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
ol 2| 359,483 415,265 Ab5,782
ol 2oy 359,483 415,265 A55,782
101 eIAH| 332,743 386,845 A54,102
01 JIE= 213,145 253,195 A40,050
(22) 196,749
1.5=2(30&8) 2,961,300& 1H*12& 35,536
2.62(95 &) 2,555,600 x1H x 123 30,668
3.72(1988) 2,028,500& *3H x12& 73,026
48345 8) 1,096,400 x 1H x 123 13,157
5.92458) 973,900 x2H x12& 23,374
6.71s82(1788) 1,749,000 x 1H x 123 20,988
(A=) 16,396
1.82+¢ 196,749,000& *1/12 16,396
02 =¢ 39,345 40,287 AN942
(X224 12,081
1.AI2E2l =S 7,457 x15A1 2Ex9H % 12 12,081
(HHsgh) 27,264
1.5 6,000
DI BN 40,0003 *x7H«12& 3,360
Lt.Jl  Et 20,0003 11 x12& 2,640
2. XNESHI EEXEY 3,984
bS5t 51,4003 *3E *47| 617
L. DS&tM 420,790 x2H x47| 3,367
3.82==Eo3 9,120
Jb. 25501 & 130,000 4«12 6,240
L+.15E 0] &~20E O] Bt
80,0003 x3H x12& 2,880
4. 0013HRE 30,0003 3 «x12& 1,080
5. 832%=+% 70,000 x8H 122 6,720
6. 22X LR 30,0003 *1H«12& 360
03 ZFAZAH 14,040 15,600 A 1,560
1. 8 MU Z A 130, 0002 9 x 12& 14,040
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SN a20E
B MR 2o Y| (4 H2S)
chl: Q2 A (ctel: &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
04 wWES2ZxH| 13,680 15,360 A 1,680
1. 0S8 LI 13,680
ot.53 140,000 1H x 123 1,680
Lt.6~72 130,000 4«12 6,240
Ct.8= 013t 120,000& *4H = 12& 5,760
05 ZEFIHI 19,675 23,372 AN3,697
1. 2 E S It 196,749,000& *1.2/12 19,675
06 JtAHIXI&HI 32,858 39,031 AN6,173
1. 9FAI X & I 196,749,000& *16.7% 32,858
203 YRFL&H| 10,000 9,400 600
01 JI22IgRFL8Y| 6,600 6,000 600
1.1 22Z YR =8| 550,000 x1H » 122 6,600
02 HIMFRFEY 400 400 0
1. 833N ERFA| 40,0003 10 400
04 BEM2ITRFLEY 3,000 3,000 0
1.2A2Z YR 250,000& 128 3,000
204 H gAY 16,740 19,020 A2,280
01 H¥SHSHAH| 1,800 1,800 0
1. 2#gHRFEY| 150,000 1H x 12 1,800
02 Hs22l 14,940 17,220 A2,280
2B A 14,940
Jt.53 250,000& 1H =12 3,000
Lt.62 155,000 *1H x12& 1,860
Ct.7= 140,000 *3H *12& 5,040
ct.8~9= 105,000 *4H x 122 5,040
48,338 50,530 A2,192
4l 48,338 50,530 A2,192
2 Et2 FH| 24,898 24,850 48
At 2tel | 11,730 11,734 NG
UBt=ZH|) 8,250
1. 22824 300,000& 10 3,000
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SH: MRS
D wE 2o (8228
&l Jl=Z3 4l
SN HB SR (BIH) - A - B S 01l &k o S
2.0BI2=UH=RAMRES 100,000& =122 1,200
3.FsSESs ==& 30,0003 »208¢ A 600
40U IRSLE
45,0003 108 A 450
5.cl01d & 100, 0002 * 153 *80% 1,200
6.clOIHEH 130, 000& * 153 *80% 1,560
7.2130|2|2 20,0003 *1CH«x12& 240
(=&l) 3,000
1|28 RHEZSAHI
5,000 *541 x10H 12 3,000
(28=4) 480
1.€=Xd 40,0003 x1H * 123 480
02 =294l 13,168 13,116
(Z2RIUTAM) 8,830
1.2ESLSH 3,600
Jb. et 2503 *15024 x 123 450
L. S0l 1,750« 15024 123 , 150
2. 801z 380, 000& * 12 x80% ,648
3.40t==2 35,000 123 420
4. SHMERY 70,0003 *22] 140
58828 as2 120,000& *13] 120
6.C1IHUAMERZ 16,000 »2CH «12& 384
7 HEXEEE 300,000& *1CH*13] 300
8. HABXHEIDA=Z
25,000 x1CH*12] 25
9. HABX!HHESNAFUHAIE
33,000 *1CH*13] 33
0. BHISBENLLLD
65,0003 *1CH*23] 130
N XSS IHA 30,0003 *1CH*12] 30
(¢ =Hl) ,332
T.AFR A 1,300 *2 £ *BA| 2+*80L! x80% ,332
(A& EHISXIl) ,956
1.EAMAZ= 1,000,000& ,000
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SN ATE
D wE 2o (8228
&l Jl=Z3 4l (el =
SN HB SR (BIH) - A - B S 0l &b S D=2
2. LS EHI 100, 000& * 1 CH 100
3.2AHE S D] 150, 000& +2CH 300
4. 27| 50,000 = 1CH 50
5 83JEHuse 45,0003 201 x4 3] 360

12,100& x1CH* 122 146
(XteFs=Xl2teldl) 1,050
1LASEREH 50,0002 x1CH*12& 600
2. A& ZHI S X 150, 000& +1CH 32 450
202 044 23,040 25,680 AN2,640
01 U0l 7,200 7,200 0
1.3 0l 20,0002 x 10 «3H ~12& 7,200
02 ZHNA0HI 15,840 18,480 A2,640
=Rt 220,000& ~6E 122 15,840
405  AHAHE SH 400 0 400
01 XA SESFHSHI 400 0 400
1.2AHE S0 400,000& = 1CH 400




SH: M2A3E
Mo F0l #F HO T (MAIS)
el UM 29 CRE-E)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
A AH3S 514,555 489,388 25,167
F0 MY HO T (AAH3S) 102,954 97,054 5,900
FOHH 29 102,954 97,054 5,900
s.82t&8 XA 87,250 88,650 A 1,400
301 Lptsazg 87,250 88,650 21,400
05 S-c2l-ctEeEsEs3 87,250 88,650 A 1,400
.88 22t 82,000
ol 200,000 x25H «12& 60,000
L. &3 200,000& *25F *23] 10,000
Ch.3lo&ag 20,0003 »25H 23| * 12 12,000
2.9 &G 25,0002 * 105 *23] 5,250
FOUNXNHHEZZ NS 29 6,000 6,000 0
201 Let3H| 6,000 6,000 0
01 At 2eld] 6,000 6,000 0
(2eEt=2H|) 1,200
1.2 X EH 23| 100,000& = 12& 1,200
(29=+4) 4,800
1.FUNX A2 A =S 4,800
Jb IR WAl 25,0002 *8A| 2+x12& 2,400
L. 2Itu 4 25,0003 *8A| 2+ x 122 2,400
A= 2el 9,704 2,404 7,300
307 glztold 2,404 2,404 0
05 QIZtREZ 2,404 2,404 0
120322 182,000& =12 2,184
ERESPNFSIPIRSIFSTN §= Bated=d
110,000 * 104 A +23] 220
401 AUl =204 7,300 0 7,300
01 Al&HI 7,300 0 7,300
T.HAI A X 1,800,000 * 14 1,800
2. 8D\t 2 At 2,000,000& * 14! 2,000
3.FUMEHSZMAEI(2AH0IEHDIERS)
3,500,000& * 14! 3,500
HY2HHH(AMAHIS) 411,601 392,334 19,267
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S MAHIS
X XH: SHXA
(=R BN (==}

N2 2P| (M2H3S)
cHol: ol 2o y] R
_ _ _ N E
SA-EFH - SA(SAH) - MREAY - BES Off &F K ‘Oﬁ,‘\jg‘; Hws2
ol 2 gy 361,967 345,449 16,518
olzi 2 gyl 361,967 345,449 16,518
101 Q124 335,267 319,349 15,918
01 =3 216,053 204,776 1,277
(23) 199,433
1.52(3052) 2,961,300+ 12«12 35,536
2.62(2552) 2,457,2002+ 12 12 29,487
3.73(1452) 1,816,0002 «3% * 122 65,376
4.82(1052) 1,438,2009! 4% » 122 69,034
(&4012) 16,620
1.82+g 199,433,000 *1/12 16,620
02 &g 38,244 36,382 1,862
(ZB224Y) 12,081
1A 2Rsg
7, 4572 %151 20592 128 12,081
(Housgh) 26,163
IPGEETEESS= 412
ot B 51,4002 «22 47| 412
2. 0154y 5,760
PN 40,0008 +7% » 128 3,360
Lt.DIEk 20,0002 108 » 122 2,400
H24Y0H3 8,280
Jb. 25101 4f 130,000 x2% * 128 3,120
L+. 20101 44~25 0] B¢
10,0009+ 12 <128 1,320
Ch. 158101 4~20 0] BF
80,0002 x22 « 12 1,920
2h. 108101 4f~15 0] B¢
60,0002 12 122 720
DF.51 01 4~10 0/ 8 50,0002 x22 « 122 1,200
4.0 29245 30,0002 +22 122 720
5.522+Y 70,0002 <82 « 122 6,720
6.HeZRA Y 3,911
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SN
X XH .
(= I

chel:

i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
JH43UL(0E2)
2,961,300 x 1 4, 8%+ 122 1,706
LI.62UHR(1652)
1,907, 10024 »1H x4 8%+ 12& 1,099
CH73U0* (225 2)
,919,2002 x 12«4, 8%+ 122 1,106
7. A EX YR 30,0002 x 12 »12& 360
03 HAUZAH 14,040 14,040 0
1. 3UZ Al 130,000 x9H « 122 14,040
04 WEBXEH 13,680 13,680 0
1. DESXH| 13,680
ot.52 140,000 1H « 122 1,680
Lt.6~72 130,000 4% « 128 6,240
Ct.8=20I5t 120,000 4% « 122 5,760
05 HESIH 19,944 18,903 1,041
1. Y9 &S| 199,433,000 *1.2/12 19,944
06 JHAHIXIH] 33,306 31,568 1,738
1. A X HI 199,433,000 *16. 7% 33,306
203 H2=ZH| 9,960 9,360 600
01 JIZH2A AR FAH] 6,600 6,000 600
1.0 22 AL K| 550,000 x 1 122 6,600
02 HAIMADE=ZXY| 360 360 0
1. HIM A =X 40,0002 *9H 360
04 BA2IAD=ZY| 3,000 3,000 0
1.2 2| 250,000 122 3,000
204 ZPLMAH 16,740 16,740 0
01 XMHUZA22HAY| 1,800 1,800 0
1.2 M ZAR=KIH| 1,800
DIER==PS; 150,000 x 1 « 122 1,800
02 ZZ2XH 14,940 14,940 0
1.2 328X 14,940
ot.53 250,000 x1H 122 3,000
Lt.62 155,000 1%« 122 1,860
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S MBS
HB: HH oA (AHIE)
chel: ol 2 A (cHol & @
S HEM O (S H) - HIRAY - BAS Of) & o4 dE = Hm=2
- * T * - = (=} o = O:H{ﬂ,% Wsa
Ch.72 140,000 *x3H x 122 5,040
ct.8~92 105,000 x*4H x 12& 5,040
JIE22& | 49,634 46,885 2,749
Jl2&d4| 49,634 46,885 2,749
201 LBt AH| 23,854 23,155 699
01 AFR222|H| 12,355 11,676 679
(2et2H|) 9,255
1. 2N =EH| 300,000 9 2,700
2.0BIZH2AMNR2ES
100,000 *2JH CH = 12& 2,400
3.H0IMEH/EH 160, 000! *3CH 53] *80% 1,920
4. FSES 22221
30,0002 28t A x 12 720
5.0 UEANLTESHET
45 000 «88F A 360
6.2150|2|= 20,0002 x 1l = 12& 240
7.9050|43EH 120,000 * 14 *13] 120
8. HAE(H 130,000& x 1 CH*33] 390
9.2 AIIEYH 81,000 54 405
(2asc) 400
1. =2t 40,000& *1&Hx 10 400
(SzHl) 2,700
ISIE-E RS = N
5,000 x5A!1 x9H x 12& 2,700
02 222344l 11,499 11,479 20
(ZZ2Q=2YHA) 7,516
1.2 = 3,180
JF. st 2503 15024 x12& 450
L. S0I 1,750« 13024 12& 2,730
2.80|12 260,000 «12€ 3,120
3. 482 30,0002 x12& 360
4. 8HINHEE2 65,0002 *x23| 130
5.9 Y AIE = 16,0002 30 x12& 576
6.83XE A2 150, 000& 13| 150




AA3S
8H 2 01 21 1| (A 243S)
Jl=&Hl
S E O (EH) - MRAY - B s e
- o= T ° - [= Bl e =5 O:H{ﬂ,%
(¢=24l) 1,264
1.319/4(28)
1,300& *2 £ *6Al 2+*90 *90% 1,264
(Al &I K Xdl) 2,719
1.8AA= 3,362& x447m 1,503
2. HPSSHHI 200,000 = 1CH 200
3.2AHEE D] 100, 0002 =1 CH 100
4. 2==J| K X122 50,0002 = 1CH 50
5 4. 28 I|2H 30,0003 20 = 12& 720
6. 2 QIA A S K E 2=H|
12,100& * 123 146
202 O4Hl 23,280 23,280 0
01 =Wobl 4,800 4,800 0
1. =Wl 20,0003 102 x2H x 12 4,800
02 AN 18,480 18,480 0
1.2 A0 220,000 «7H x 122 18,480
405 XHAHFE SHI 2,500 450 2,050
01 T =ESHSHI 2,500 450 2,050
TAFS A HLD| (408 ) 2,500, 0002 = 1CH 2,500
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SN A4S
HE: F0l #F MO TD(L2A4S)
ool EOIMESY (50 &2
_ _ SIEN
SN EB -GS - MBAY - BES Arol e HRE2
s 514,328 496,887 17,441
O BH HO TR(LHIS) 97,680 90,940 6,740
ZOIHE2Y 97,680 90,940 6,740
S.89E X 74,380 74,880 A500
01 YsrBAZ 74,380 74,880 A500
056 S-2l-SUNBEBH3 74,380 74,880 A500
. SZ+ge Sy 683,880
oholEsy 200,000 *2124 *122 50,400
Lt.&r012 200, 0002 x212 %23 8,400
Ch.slol & A +g 20,0002 %212 %23| + 122 10,080
2.8 Y 25,0002 %110 %23l 5,500
ZONKMEH T2y 29 11,040 11,500 460
201 Lsr2 | 11,040 10,800 240
01 AR el 11,040 10,800 240
(Lur2gHl) 1,440
1. =01 XX M 22| 120,000 * 128 1,440
(2g+9) 9,600
I FOIRRIME ALY 9,600
b MO DA 25,0002 8 Al 2H+122 2,400
Lh.oiA AZ= 25,0002 +8AI 2H+122 2,400
Chotena 25,0002 *8AI 2H+122 2,400
222 00X s=0ima
25,0002 *8AI 2H+122 2,400
AT 2 12,260 4,560 7,700
307 QIO 4,060 4,060 0
05 OIIED 4,060 4,060 0
IR 20,0002 %122 2,640
2HNFIINHNY S22
110,000 17§ 4 23] 220
3AgEABRNHLLE 100,000 * 122 1,200
401 Al&HI L2 8,200 500 7,700
01 AlZH] 8,200 500 7,700
1.Z0IME QIS A HHBA
8,200, 00024 +14} 8,200
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- (BH) - MEAY - B2 Abod e
(&2H4F) 416,648 405,947
365,180 355,297
23 365,180 355,297
olAd| 338,480 329,197
23 214,156 207,784
(22) 197,682
1.5= (302 E) 2,961,300 x 1123 35,536
2.62(2653) 2,485,400 x1H = 12& 29,825
3.72(1738) 1,949,700 x3H x 12 70,190
4.8= (52 E) 1,154,400& *»3E *12& 41,559
5.01592(2188) 1,714,300& x 1 * 123 20,572
o2) 16,474
A2g 197,682,000 *1/12 16,474
=4 43,822 42,482
(X224 12,081
1AL 28+
7,457 151 2Ex9H % 12 12,081
o4 A CH) 31,741
1. AEEE 2 xS 2,096
Jb.=st 51,4003 40| x2H 412
L. DSt 420,7903 x40 1Y 1,684
s 8,880
Jb Ui < Xt 40,0003 x8H x 123 3,840
Lt.J|E 20,0002 »18H x12& 4,320
Ch.ZE=IHAMAA) 30,0003 2 «12& 720
R = PR = 8,880
JF. 253 0] & 130,000& «2H = 12& 3,120
Lt.20E 0] &~25 0] Bt
110,000& «2H = 12& 2,640
Ct. 15 01 &4~20= 0] Bt
80,000 x2H x12& 1,920
ct.5E 0l &~10E 0] Bt 50,0003 »2Z «12& 1,200
4 HREREE 3,725
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S A4S
B R 2 oY (4 H4S)
chel: ol 2 A (sl &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
52U (265E)
2,485,4002 * 12 %4, 8%+ 122 1,432
Lt.6=2tH (188 S)
1,990,300 x2F *4 . 8%+ 122 2,293
5 03AAR+H 30,000 x3H » 122 1,080
6. A SN ERSE 30,0003 *1H«12& 360
7.822=+% 70,000 x8H 122 6,720
03 HAMZAH| 14,040 14,040 0
1. MU Z Al 130,000 9 x12& 14,040
04 WSS 2l 13,680 13,680 0
1.0 S22 Ll 13,680
ot.53 140,000 1H x 122 1,680
Lt.6~72 130,000 4«12 6,240
Ct.8= 013t 120,000& 4 H = 12& 5,760
05 ZEFIHI 19,769 19,180 589
1. 2 E S It 197,682,000& *1.2/12 19,769
06 JFAHIXI&HI 33,013 32,031 982
1. A X & I 197,682,000& *16.7% 33,013
203 YRFL&Y| 9,960 9,360 600
01 JI22dPRF=L8] 6,600 6,000 600
1.0/ 22F R F8| 550,000 x1H »12& 6,600
02 HINHPRFEY 360 360 0
1. HJAJMERFA| 40,0003 x99 360
04 REM2IIRFLEG 3,000 3,000 0
1.2XAS2Z YR 250,000& x12& 3,000
204 XN@zsAY| 16,740 16,740 0
01 H¥SHSHAY| 1,800 1,800 0
1. 88 gHRFEY| 1,800
.= 150,000& 1H =123 1,800
02 HAz=2xH| 14,940 14,940 0
1. 8222l 14,940
t.53 250,000 1H x12& 3,000
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S 4E
B HE A (MHAS)
£l el 2| (el =
SN HB SR (BIH) - A - B S sk oy e 2
Lt.62 155,000 18123 1,860
Ct.72 140,000 «3H 122 5,040
ct.8~9= 105,000 4 x12& 5,040
] 51,468 50,650
24| 51,468 50,650
201 LEH23H] 28,428 27,610
At 22l | 11,962 11,944
(Let==8Hl) 7,902
1. 2224l 300,000& 9L 2,700
2.0HIZIRANERES 100,000& 123 1,200
3.Z2H &Y 160, 0002 *4CH x53] *90% 2,880
4.2180|el= 20,0003 »1CH 122 x80% 192
h.xFUSEs . ==222EX
30, 000 *20box*80% 480
6.OLEINLSBS LSBT
45,000 »10box 450
(28=4) 400
1.€. 5284 40,0002 *1H*10Z 400
(=&tl) 2,700
1|2 RS2 S 4|
5,000& «541 9 » 123 2,700
(2xZ) 960
1.321E &I 40,0003 20 =123 960
2234 16,466 15,666
(SZ23LHA) 14,300
1.2E8= 2,820
b et 2503 1004 x 123 300
L. S0l 1,750 12024 123 2,520
2.80|= 1,000,000& » 12 *90% 10,800
3.40t=2 40,000 12 480
ISR NP FA R = 200,000& *13] 200
(A& EHISXIdl) 2,166
1.2AMAZ 800, 000& *1JH & 800
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SN A4S
BB HH2AAY| (L 2H4S)
£l D12 | (SHol:®el)
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl ko HRE2
2 B LS| 200, 0002 2CH 400
3.2AHE S D] 100, 000& *1CH 100
4. 42840 LE 30,0002 x2CH 122 720
5. 20l SHOI\| AR X B 44|
12,100& * 123 146
202 OdHl 23,040 23,040 0
01 =LHAHI 7,200 7,200 0
1.2 U1014] 20,0002 +102 ¥381*122) 7,200
02 MO 15,840 15,840 0
.29 01t 220, 0002 *62 122 15,840
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2N 2E1S
Ha: F0l WH MO CR(2H1S)

ol FOIMHEY CEEED
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Eﬁiﬁ HwsZ
=81s 423,238 413,945 9,293
=0l #F BO CR(=HIS) 66,936 67,936 A1,000

ZoME2Y 66,936 67,936 A1,000
S B N 58,760 59,760 A1,000
301 Ysreaz 58,760 59,760 A1,000
05 S-2 - BNESBAZ 58,760 59,760 A1,000

| EZagLBSY| 55,760

bolEay 200,0002 * 178« 122 40,800

Lt 4013 200,0002 1724 x23] 6,800

Chalolaasg 20,0002 * 172§ x23| %122 8, 160

2. BIE AT 25,0002 *602 *23] 3,000
ZOIGXME T2 2 6,000 6,000 0
201 Y2yl 6,000 6,000 0
01 ARzl 6,000 6,000 0

(LergY|) 1,200

1. QR ME 2| 10,0002 * 122 1,200

(2g4+4) 4,800

| QTR ME A 4,800

b A0l R A 25,0002 *8A| 2H+122 2,400

EI-TPSPN, 25,0002 *8A| 24+ 122 2,400
BAS K2R 2,176 2,176 0
307 2I2H0IH 2,176 2,176 0
05 QIZtIErz 2,176 2,176 0

I R 163,0002 * 122 1,956

2HAFEIHH S22

110,000 * 11 A %23 220
HH2AAY| (ZHIE) 356,302 346,009 10,293
oz 2 gyl 305,341 296,012 9,329
ozt 2 | 305,341 296,012 9,329
101 o121l 280,361 271,632 8,729
01 == 179,828 176, 149 3,679

(23) 165,995

1.52(3052) 2,961,3002+ 1%+ 122 35,536
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SN =EIS
M NS YA (SE1S)
CHel: o2 2ol (S92l &8
_ _ _ N E
SH BB O(B) - NRAY - BAR 0f &k Gil it o Hn=2
2.62 (255 2) 2,457,200 12+ 122 29,487
3.72(1552) 1,862,700 x2% + 128 44,705
4.83(75) 1,273,500 «3% * 128 45,846
5.92(252) 868, 400! * 12+ 122 10,421
(4012) 3,833
1.83249 165,995,000 2lx1/12 13,833
02 +g 31,611 27.468 4,143
EFEER 10,739
INE LR
7,457 1541 24582 » 12 10,739
(Bosg) 20,872
IPEEFIEESR 206
oh. B8t 51,4008 12§ 42| 206
2.0t54g 5. 160
oY 2 Xt 40,0002 6% 128 2,830
Lt.JIEt 20,0002 +82 128 1,920
SIESIC D PUE) 30,0002 1+ 122 360
3.F2LYtN 6.840
72501 4 130, 0002 +2% » 122 3,120
Lt. 1543 01 &+~201 0] 2+
80,0002 522 » 128 1,920
CH5E0IA~10E0/8F 50,0008 x3% » 122 1,800
408900y 30,0002 %22 » 128 720
5. AE = XY R4E 30,0001 122 360
6.522+4 70,0002 +72 122 5,880
THezeasy 1,706
o430 2 (305 2)
2,961,300%!* 1% x4, 8+ 122 1,706
03 HokZAlH| 12,480
1.3 4 Z Al 130, 0002 +8% * 122 12,480
04 DEFEH| 12,120
BrEES 2,120
o532 140,000+ 12 » 12 1,680
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SN SEIS
FH: HHE2IHH(SE1S)
chol: o2l 2ot (et9l: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
Lt.6~7= 130,000& 3 x12& 4,680
Ct.8=20lI6t 120,000& «4H x 122 5,760
05 HEFOHI 16,600 16,260 340
1.2 250l 165,995,0009 *1.2/12 16,600
06 JHAIXI &4 27,722 27,155 567
1. A X 2 8l 165,995, 000& *16.7% 27,722
203 YRFLAY| 9,920 9,320 600
01 JI22dPRF=L] 6,600 6,000 600
1.J|22FHRF8H| 550,000 x 1+ 123 6,600
02 ZFJAIHRFEY| 320 320 0
1. 2JIAHRFAH| 40,0002 «8H 320
04 RM2IIRFLH 3,000 3,000 0
1.2A2ILSF=LH 250,000& 122 3,000
204 R AH| 15,060 15,060 0
01 Mo HRHAH 1,800 1,800 0
1. A MG HRF A 1,800
b.sE 150,000 18 x12& 1,800
02 ANz==2x| 13,260 13,260 0
1. 2224 13,260
t.5= 250,000 x1H x 122 3,000
Lt.62 155,000 18123 1,860
Ct.72 140,000 «2H 122 3,360
ct.8~9= 105,000& »4H 122 5,040
Jl=&Hl 50,961 49,997 964
Jl=3d| 50,961 49,997 964
201 ZEH2IH] 28,071 27,957 114
01 Atf2teld 10,900 10,876 24
(Let=>EHl) 8,100
1. 28224l 300,000 8 2,400
2.0HIZIRANEES 100,000& 12 1,200
3.e13012l2 20,000% »1CH =122 x90% 216
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M =81S
A HELAAY (2E1S)
ool |22y (@
_ _ _ N E
SA B HRA(SH) - MRAY - B O & o4 e HREZ
40130143 25,000 *2H * 13| *90% 45
5, Z2HEH 160, 0003 * 143 x80% 1,792
6. Z2HEH 160, 000& *93| *80% 1,152
7o USYNLTSABT
45,0003 82 A x90% 324
8. =055 Z2LTEN
30,000 & *129F A*90% 324
9.2 AIEH 130,000 & 43| *80% 416
10.2MESIIEH 88,000& *22] *90% 159
11.=ALEX 16,0003 52 A %90% 72
(2g+g) 400
1.€. 584 40,0002 *1H*10Z 400
(= &tl) 2,400
1olEYesgsagAY
5,000& «541+8H »12& 2,400
02 52294 17,171 17,081 920
(ZZR3LHA) 2,933
1.28= 3,105
Jb. et 250 *10024 12 x90% 270
Lt. S 1,750 15024 « 122 «90% 2,835
2. 801z 700,000& » 12 *90% 7,560
3.4 ol 80, 000& » 12 x90% 864
4 BENEREES 90,0003 *22] 180
5.0 HYAMER 16,000& »2CH~12& 384
6. 83 2&HAE 150,000& *13] 150
7,200 KX HIE|HI B Al 2 T U AR 1 2
= 150,000& *13] 150
8.MIIOIEXNNSUHEE R 80,000& * 12l 80
O RHASFEUZSHBUEATEL
100,000& * 100 A %13l 100
0. HASFoRSsHABE Y
30,0003 * 100 2 +12& 360
(¢ =4l) 2,808
TLAFRAH =
1,300& *5 £ *BA| 2+*80R x90% 2,808
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SN =S
HE: BH2SAY(2S1S)
Sl Jl2 | (5l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
NEECELED 1,430
LEAAE 2,470 634, 75 *50% 784
2.H4)IZE 100,0002! *1CH 33! 300
3.t 100, 0002 *3CH*13] ¥50% 150
4. T2 (L4 R 50,000 *1CH 50
5.2 QIS OIA| A S X B4t
12,1002 122 146
202 OfHl 20,640 20,640 0
01 =Lioit] 4,800 4,800 0
1. 2018 20,0002 ¥102 %2 + 122 4,800
02 2ot 15,840 15,840 0
1.220it] 220,000 6% * 122 15,840
405 THEFH S 2,250 1,400 850
01 KNOLSEFSH] 2,250 1,400 850
=t 50,0002 *11JH 1,650
2.5l0 A F X} 30,0002 x204 600
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SN S80S
B ZOIMMHCD(SH2S)
cHel: EoIME S (9l &2
SA - HE - SR(EH) - NRAY - BES & ol e DS
2S 705,544 708,978 N3,434
DIHNEHOE R (S825) 143,790 154,580 210,790
FUde=29g 143,790 154,580 210,790
s .BHEX# 125,630 136,420 210,790
301 Et2A =3 125,630 136,420 210,790
06 S-cl-He 125,630 136,420 210,790
1. SE-EHLES 118,080
iz 200,000 »36 B x 122 86,400
Lt.&= 200,000& +36H 22l 14,400
Ch.2l o &ad == 20,0002 *36H «23| x 12& 17,280
2.8t8 =g 25,0003 *151H *23] 7,550
FUXXIHEIZZ TS 15,840 15,840 0
201 LErEEH| 15,840 15,840 0
01 AtR2cidl 15,840 15,840 0
(Let==8Hl) 1,440
1. F=UXXA 120,000 =122 1,440
(28=%) 14,400
1. FYUXXA 14,400
JbAZ=H 25,000& *8AI 2+ 123 2,400
L A =CH 25,0003 *8Al2tx12& 2,400
Ch. A 25,000 *8AI 2+ 123 2,400
ct.otena 25,0003 *8AI2tx12& 2,400
O JIEH X 25,000 *8AI 2+ 123 2,400
B, &=0u 25,0003 *8AI2t+12& 2,400
A=A 2el 2,320 2,320 0
307 QIZ2told 2,320 2,320 0
05 B2IRIE= 2,320 2,320 0
1. S ZHIHA 175,000 x 128 2,100
2. FAEDIHETY
110,000& » 101 A %23 220
HE2IHH(=828) 561,754 554,398 7,356
Iz 2 497,192 491,264 5,928
eI =2l 497,192 491,264 5,928
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2 =82S
X XH: 3
(=R BN

cel: ol CLE-E
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
101 @IAH| 464,272 457,744 6,528
01 JIE= 293,394 291,192 2,202
(22) 270,825
1.53(3188) 2,961,300& 1H 12 35,536
2.62 (235 &) 2,395,900 x2H x 123 57,502
3.783(1788) 1,949,700& 4 H « 12 93,586
4.83(588) 1,154,400 x2H » 12 27,706
5. 9=2(458) 973,900& «3H x12& 35,061
6.0/s82(1858) 1,786, 100& x 1H x 123 21,434
(A=) 22,569
1.82+¢ 270,825,000& *1/12 22,569
02 =g 58,607 54,823 3,784
(Z222¢) 17,450

7,457 «15A 2t 13« 122 17,450
(Mg 41,157
IPNEETI NS = 5,462
O =8 51,4002 «22 +4D| 412
L. DS8HA 420,790 x3H *4D| 5,050
2.0tE4E 10,080
Jb Ui Xt 40,0002 * 10«12 4,800
Lt.DIEt 20,0002 * 19 * 122 4,560
Ch.=IHATRA) 30,000 x2H » 122 720
3. ™22 10,080
J. 253 0] & 130,000 1« 122 1,560

Lt.20 O] At~25 0] BF
110,000 x3H x 122 3,960

Ch. 15 0l At~20H O] BF
80,000 «2H «12& 1,920

ch. 108 0l At~15 0] BF
60,0002 x2 % « 122 1,440
OF.5E 0l &f~10E O] BF 50,0002 «2H « 122 1,200
4.012AADACt 30,0002 x5 x 122 1,800
.22 70,000 «12H 122 10,080
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SN =82S
I Y 2HAH(=828)
chol: o2l 2ot (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
6.UHSERA=Y 2,935
H42UR(3158)
2,961,300 x1H x4 8% 12 1,706
Ll.62UR(2258)
2,132, 700% x 1 x4 8%+ 12 1,229
7T AN SXERSE 30,0003 »2ZH «12& 720
03 ZFAZAH| 20,280 20,280 0
1. 23U g A 130,000 * 13 x 123 20,280
04 nE2B=xH| 19,680 19,680 0
1. 0E2 Y| 19,680
t.53 140,000& *1E x12& 1,680
Lt.62~7= 130,000 6 H 122 9,360
Ct.8=0I6t 120,000& 6 H *12& 8,640
05 ZESFOHI 27,083 26,880 203
1.2 E S It 270,825,000&*1.2/12 27,083
06 JtAHXI&HI 45,228 44,889 339
1. A X & I 270,825,000& *16.7% 45,228
203 YREZH| 10,120 10,720 600
01 JI22ZYRFL8Y| 6,600 7,200 A600
1.J|22FHRF&H| 550,000 x 1+ 123 6,600
02 HAINMHRFEHI 520 520 0
1. 23R FEHI 40,0003 13 520
04 REN2IYRFLAYI 3,000 3,000 0
1.2N2ZHRFAH 250,000 = 12& 3,000
204 XA 22,800 22,800 0
01 HHMZHARAHAH 1,800 1,800 0
1. AMZHRFAH| 1,800
o.sE 150,000 1H x 12 1,800
02 HsE22Hl 21,000 21,000 0
1. 832Xl 21,000
t.53 250,000& 1H =123 3,000
Lt.62 155,000 x2H 12 3,720
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SN =82S
Ha: HH2AAY| (SH2S)
chel: ol 2| (649l &2
_ _ _ Muo
SA-BH.C(BH) - HRAY - B Ofl &F o8 il i~ o Rz
.72 140, 00091 *4% * 122 6,720
2t.8-92 105,000 6% * 1224 7,560
ol = Al 64,562 63, 134 1,428
ol Al 64,562 63, 134 1,428
201 Y2yl 30,478 30,014 464
01 AR 2eltl 13,965 13,872 93
(LeragH|) 9,665
| 2N2Y 28 300,000% 138 3,900
2.0 RYRAREE 100,0002! *122 1,200
3.0 M TRIE & 55,0002 *63] 930
4 YOIHERIECEY 130,0002! %53 650
5OAASHNLBSLEN(AEXLNG)
45,0008 %1584 A 675
6.X0lS=SE=EX 30,0001 %302+ A 900
7.0150212 20,0002 *3H * 122 720
8.2AMED E
100,00021 #1CH* 12+ A x33] 300
9.2 APl EY 130,000 1CH* 124 A 35 390
(2g+9) 400
1.2, &84 40,0002 %12 %102 400
(S2dl) 3,900
1.0/2Ye+sS 2004l
5,000 %541+ 132 122 3,900
02 B2 16,513 16,142 371
(BZRILHA 12,503
1.018% 282 80,0002 *1CH15] 80
2.2HE 5,655
I 25021 % 15021 % 122 0% 405
LS9 1, 7502 x25021 « 128 5,250
3.®I|7 500, 0002 *122 *90% 5,400
44514252 50,0002 128 600
5.EYMALLS 56,0002 *23] 12
6.YFEHASSE 58,0002 *23] 116
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AN 2H2S
M HHSAAH (ZH2S)
el J|1=& (A2
= - bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
7.002AA0EHU AIRE 15,0002 301« 122 540
(¢424]) 2,184
1AL A 1,300 42| E{ *B Al 2H*70L 2,184
(A& &Y S XIH]) 1,826
LEAMNHE 600,000 600
2.BAE ST 100, 0002 *2CH *80% 160
3.A2D|THWE 45,0002 *4 4 *2CH 23] 720
4 2010 A AL ST B 4|
12,1002+ 12& 146
5.01&X =24 50,0002 *1CH*43] 200
202 04 33,120 33,120 0
01 =2LHOIHI 12,000 12,000 0
.20 20,0002 x 10 «5H «12& 12,000
02 S HOIH| 21,120 21,120 0
1. 20| 220,000 x8%H « 122 21,120
405 KHAHE S 964 0 964
01 XAMYESEFSH 964 0 964
1. 22X X 250,000 =1 JH 250
2. QA= O} 119,000 64 714
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SN HES
Mo HYS A (S 1S)
ol ol=i 2| (£ @8
SA-EFH - SA(SAH) - MREAY - BES Off &F K glgaf; Hws2
101 Q12| 272,899 300,497 £27,598
01 =2 173,723 197,529 123,806
(23) 160,359
1.52(2952) 2,940,600% 1%+ 122 35,268
2.63(2252) 2,363,0002*1%+122 28,356
3.72(1322) 1,766,900 *3% * 122 63,609
4.92(352) 919,600 +3% * 122 33, 106
(&012) 13,364
1. 8244 160,359,000 *1/12 13,364
0 g 31,640 29,444 2,19
(ZD22+E) 10,739
SRR
7,457+ 15A1 24482 122 10,739
(Ho+g) 20,901
IPUEETICE SN 2,301
p[-E 2N 51,4002 %32 %47 617
Lt DSss 420,790 1% *4)| 1,684
hEag 5,280
pNTEDY 40,0009 +6 % * 122 2,880
Lt.JIE 20,0002 %10 * 122 2,400
=R N= DN 6,360
Jh. 25101 & 130,00024 #1124« 128 1,560
Lt.201 0] &4~25K1 0| ¢
10,0002 #1228 1,320
C. 155101 &~20E 0]
80,0002 32 122 2,880
2H.5H014~10E018F 50,0002 %12+ 122 600
4822 rg 30,0002 284 128 720
5,822+ 70,0002 %72 122 5,880
6. MBS X R R4 30,0002 +12§ x 128 360
o g Al 12,480
HUZAY) 130,0002! 8% 122 12,480
DSR2 X 12,240
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SN UHENS
FH: HHE2IZH(HWE1S)
chol: o2l 2ot (et9l: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
1. WS 2 X 12,240
t.5= 140,000 1H x 122 1,680
Lt.6~7= 130,000& 4 x12& 6,240
Ct.8~9= 120,000& «3&H x 122 4,320
05 HESFOHI 16,036 18,234 A2,198
1.2 250t 160,359,000% *1.2/12 16,036
06 JHAIXI &4 26,780 30,450 A3,670
1. JHAIXI & 8l 160,359, 000& *16.7% 26,780
203 HRF&H 9,920 9,320 600
01 JI22FPRF=8] 6,600 6,000 600
1122 =8 550,000 x 18«12 6,600
02 ZFJAINHRFEY| 320 320 0
1.2 R =L 40,0002 «8H 320
04 RAM2EHRF=LH 3,000 3,000 0
1.2A2SYS=AH 250,000& 122 3,000
204 HPLHAY| 15,480 15,900 A420
01 HMSHRHAH 1,800 1,800 0
1. A MG HRF A 1,800
.s% 150,000 18123 1,800
eS| 13,680 14,100 A420
A2 x| 13,680
t.5= 250,000 1«12 3,000
Lt.62 155,000& x1& 122 1,860
Ct.72 140,000& «3H x 122 5,040
ct.8~9= 105,000& 3 x12& 3,780
40,602 39,094 1,508
24l 40,602 39,094 1,508
2Bt 19,362 18,454 908
At 22|l 9,370 9,328 42
dBt=2Hl) 6,570
1. 2224l 300,000 »8H 2,400
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SN UEIS
B HNS AL (HE1S)

ol D= 2| CLEE

SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
2.0HZERARES 100,000& =122 1,200
.UAOINEH/EE 170,000& «2CH 53] 1,700
4 FUSESE2LTEN
30,0003 x18f A %12 360
5 0LE5FLZEE+EX 45,000 »65F A 270
6.2187]12l2 20,0003 *1CH+12& 240
7. HAE 100,000& *1CH 43| 400
(28+¢) 400
1.2 .58 40,0002 *1H*10 400
(Shl) 2,400
122 S20HAH|
5,000& x5! x8H 12 2,400
02 223244l 9,992 9,126 866
(2323 & WA 5,791
1.28= 1,980
Jb. et 2503 «1004 * 123 300
Lt. S 1,750 8021 x 123 1,680
2. 80|1=2 230,000& *12& 2,760
3.40t==2 15,000 123 180
4 QIHYAIZR 29,7003 x12& 357
58828 as2 70,000& 12 70
6.2FIINEZ 37,0003 x 122 444
(¢ =Hl) 2,808
1T.APR A 1,300& %4 £ *6AI 2tx90L 2,808
ONF=F=1sIE=DNI:]D! 1,393
1.2AMNH= 3,362&%311.3m’ 1,047
2. LS 150, 000& * 1 CH 150
3. M2te (2=DI= XIdl) 50, 000& = 1CH 50
4 2RECIA AKX E |
12,100+ 123 146
202 Od4Hl 20,640 20,640 0
01 =LHAHYI 4,800 4,800 0
1. =Wl 20,0003 102 x2H «123 4,800
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A UE1S
B HNS AL (HE1S)
£r9l: I =AYl (EH9): & 2

_ _ _ Muo
SNBSS - MEAY - BES 0l &k o4 e HlnE2
02 BHNHI 15,840 15,840 0
1.2 MY 220,000& 6 H =12 15,840
405 KHaHFE S| 600 0 600
01 XA ESEFH=HI 600 0 600
1.2 3As UeI|(&MIIH2) g
200, 000& 1CH 200
2.2AHEE D] 400,000& »1CH 400
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SN OE2s
Mmool #A MO TR(E2S)

Sol: ZpiME o o (el o
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
tHe2s 526,222 533,522 AT7,300
F0 MY He T2 (UHE2s) 60,520 64,600 A4,080
FOHH 29 60,520 64,600 24,080

s,8t& XI& 54,780 58,860 A 4,080
301 utEa=z 54,780 58,860 24,080
05 S-cl-etEes8a3 54,780 58,860 A4,080

ERseeESY 52,480
o2 200,000 16H «12& 38,400
L. &3 200,000& * 16 *23] 6,400
Ch.3lo &Y 20,0003 »16H *x23| * 12 7,680
2.9 &G 25,0003 46 % *23| 2,300

FOXNXHEEH T2 29 3,600 3,600 0
201 Let3H| 3,600 3,600 0
01 At 2eld] 3,600 3,600 0

(2eEt=2H|) 1,200
1.2 X EH 23| 100,000& = 12& 1,200
(29=+4) 2,400
1.F0XXHEH ZAE 2,400
Db A0l & 25,000 x4 Al 2+x 12 1,200
L. Z2Z20lWd 25,0003 4 Al 2+ x 128 1,200

A= 2el 2,140 2,140 0
307 glztold 2,140 2,140 0
05 QIZtREZ 2,140 2,140 0

120322 160,000& =12 1,920
2. BAMNEIE AT
110,000 * 104 A +23] 220
HYSAHH(US2s) 465,702 468,922 A3,220
ol 2| 415,790 419,185 A3,395

ol 2| 415,790 419,185 A 3,395
101 @IAH| 385,590 389, 165 A3,575
01 JIE= 245,566 249,866 A 4,300

(23) 226,676
1.53(3188) 2,961,300 1H 123 35,536
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A UE2S
M HH2AAHI(HE2S)
el 2| (298
=] Rz . GO (5 = v dEE
2.62(198 ) 2,252,000 x2EF « 123 54,048
3.72(1438) 1,816,000& »4F 12 87,168
4.82(558) 1,154,400 x2E 123 27,706
5.98(358) 919,600 18123 11,036
6.71s10=(588) 931,800& 18122 11,182
aua) 18,890
1.82=¢ 226,676,000& *1/12 18,890
=g 45,541 43,636 1,905
(EH=22=+¢) 14,765
LAIARAZ RS
7,457 3 x15A1 2H+ 1B« 128 14,765
oM 30,776
1. S Ex+E 2,096
. =8t 51,4003 x2E *47| 412
L. DSsha 420,790 x 1 %47 1,684
2.5+ 9,840
b Ui Xt 40,0002 «8H « 122 3,840
Lt. JIE 20,0003 x258 123 6,000
3.82=Et= 8,280
Jb.25E 01 &f 130,000& »1& 123 1,560
L+.20E 0] &H~25E 0] Bt
110,002 %1% 122 1,320
Ct. 158 0l &t~20H 0] 8F
80,000& x3E 12 2,880
ct. 10E 0l &8~15= 0] ¢
60,0003 x1H+ 123 720
OF.58 01 &~102 01 8¢ 50,000& x3E 122 1,800
4 QAP RE 30,0002 «3& 128 1,080
5.82%2=+¢ 70,0002 x10&E * 122 8,400
6. A SXHRY 30,0002 +3& ~ 128 1,080
A g A 17,160 17,160 0
A S A 130,000& «11H 122 17,160
== | 16,800 16,920 A120
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SN (RS
I Y 2HAH(UHS2S)
chol: o2l 2ot (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
1. E2 x| 16,800
Jt.53 140,000& 1H *12& 1,680
Lt.6~7= 130,000 6 H 122 9,360
Ct.8=0I5t 120,000 4«12 5,760
05 ZEFOHI 22,668 23,065 A397
1.2 E S It 226,676,000 *1.2/12 22,668
06 JtAHXI&HI 37,855 38,518 A 663
1. A K& I 226,676,000& *16.7% 37,855
203 YRFLAY| 10,040 9,440 600
01 JI22gYRFLY| 6,600 6,000 600
1.J|22FHRF&H| 550,000+ 1« 123 6,600
02 HAINMHRFEH| 440 440 0
1. 2JIAHRFEHI 40,0003 11 440
04 RBEN2IYRFLAYI 3,000 3,000 0
1.2N2ZHRFAH 250,000& * 123 3,000
204 XA 20,160 20,580 A420
01 HAéZHRAHAH 1,800 1,800 0
1. 83Mg PR =AY 1,800
.sE 150,000 1H x 12 1,800
02 Hs22l 18,360 18,780 AN420
1. 832Xl 18,360
Jt.53 250,000& 1H 123 3,000
Lt.62 155,000& x2H x 12 3,720
Ct.7= 140,000 4 H « 123 6,720
ct.8~9= 105,000& *3H 122 3,780
Ot. 215102 95,000 x1H~12& 1,140
Jl2&dl 49,912 49,737 175
Jl2Zl 49,912 49,737 175
201 Let3| 21,592 21,417 175
01 AtR2teltl 11,186 11,011 175
(ger=&4l) 7,486
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SN D82S
=B EEEELIERS)
el 12| (£ @8
SA - SR(E) - HRAY - BES 0 & 24 e HIRE
LT 300,00024 +112 3,300
2. U2 RANREE 10,0009 * 122 1,200
3.HOINEL/SH 140, 00021 * 125] +80% 1,344
4. AL 83,0002 *1CH 43| 352
5.ZplS=S 22U EX
30,0002 %248t A 720
6.OUUSHANLZSSBX 45,0002 +88 A 360
70501212 20,0008 *1CH*33] 60
8.21Z0|YA(S HM) 25,0008 *2J 33| 150
(2g+Y) 400
.2, 5xeg 40,0002 %124 %102 400
(S 3,300
1.o12gesusS2g 4l
5,000 ¥541 %112« 128 3,300
02 ZT2YH| 10,406 10,406 0
(B222 2 AA) 8,047
. 2HE 3,210
I 25021 %30021 % 122 900
Lt S0I 1,75021 11021« 128 2,310
2. ®I|8 500, 000! * 12 *80% 4,800
34T+ EANSE 25,0002 128 300
4. BAWALYS 40,0008 %25 80
5.0EUAER 29,7002 * 10+ 122 357
6.3 xHAR 20000084 *13] 200
AEEFIES LD 1,459
|EARAE 2, 470%1+568. 62 *50% 703
2. BAE B 200,0002!*1CH 200
3.4,2347 2 30,0002 * 10+ 122 360
4.4 50,0008 *1CH 50
5. 20120l \| AR X 2 4|
12,1002 %122 146
202 OFHl 28,320 28,320 0
01 =Uhoid| 7,200 7,200 0
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M UH2s

M HH2AAHI(HE2S)

chel: J|123& Yl CER:E
= X XH Ctol (o (=] o HASZ OH I‘—-IL‘EE =2}

1.2 06 20,0002 x 10 «3H ~12&
02 ZNA0HI
1.3 A0H 220,000 »8H 128

7,200
21,120

21,120

21,120
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SN HUS
By 0l #F MO T2(UHE)
el FRMHEY (el @)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
aE= 436,626 451,159 AN 14,533
FOl AN HO TQ2(HHUHS) 61,634 66,834 N5,200
FOIMdEHEY 61,634 66,834 N5,200
s . BUEXJ 57,230 57,230 0
301 Let8Aa3a 57,230 57,230 0
05 S-2-HEEsEM2 57,230 57,230 0
1.8&88 2 &=Y| 52,480
o2 200,000& *16H x12& 38,400
(P = 200,000& x 16 *23| 6,400
Ch.3l ol &5 20,000& x16H »23| x 128 7,680
2.8 &G 25,000 x95H x23| 4,750
ZONXMHEIZ Y 29 2,000 7,200 A5,200
201 B9y 1,200 1,200 0
01 AtR22id] 1,200 1,200 0
(2et=24]|) 1,200
1. F0 XX AEHSF | 100,000& x12& 1,200
405 RKtaHFESHI 800 6,000 A5,200
01 ANAMNLEEFSHI 800 6,000 N5,200
1.AROI 2 (4] 800, 000& = 1CH 800
AR 22 2,404 2,404 0
307 Q12+l 2,404 2,404 0
05 oI2tf&32 2,404 2,404 0
1.20dg| 22l == 182,000 x12& 2,184
2.EAMEI|GHM AL M Z
110, 000& 101 A %23 220
HHSHAAH(AHS) 374,992 384,325 N9,333
ol 2HH| 323,355 338,489 N 15,134
ol 2| 323,355 338,489 N 15,134
101 oAb 297,495 312,809 N 15,314
01 222 188,255 200,492 N12,237
(22) 173,773
1.52(3022) 2,961,3003 1=+ 128 35,536
2.63(2bs2) 2,457 ,200& x 1+ 12& 29,487

_75_




SN Aos
2 US| (FES)
chel: ol e | (S &
':’}\—|.I-IiH.CI-O|(§|j:”).}\-||C‘}\|.O-|.EI/\-|E A} OH HAL 2F
3.73(1588) 1,862,700 x1E + 123 22,353
4.82(658) 1,213,700 x3H x 12 43,694
5.92(2&8) 868,400 x2&H 122 20,842
6.71s8=2(1958) 1,821,700& x1H « 123 21,861
(&03) 14,482
1.82=¢ 173,773,000 x1/12 14,482
02 =% 35,361
(2222 12,081
LA e2Rsg
7,457 *15A1 2Hx9EH 123 12,081
(B 23,280
1.15=¢ 3,840
b Ui Xt 40,0002 «5H « 122 2,400
Lt.JIEt 20,0003 6H 122 1,440
2.832xEts 7,200
Jb. 25501 & 130,000& 2 122 3,120
Lt.20E 0l & ~25 0] 8t
110,000 18123 1,320
Ct. 158 0l & ~20& 0] 2t
80,000& x1H ~ 122 960
ct.55 0l &k ~10= 0/ 8t
50,0002 *3& 128 1,800
. AEEHEESE 3,367
Jb.OESsw 420,790 x2E x4 3,367
4012 @ag 30,0002 *2 % 122 720
5.828=+H 70,000 x8E 123 6,720
6. =X R 30,0003 *1H«12& 360
7.HRBRA>L (62U 1588)
1,862, 700% *4.8%*1H 12 1,073
03 HAMHSAHI 14,040
1.2 g Al 130,000& *9H x 12& 14,040
04 wWES2XH| 13,440
1. WS 2 xH| 13,440
t.58 140,000 18123 1,680
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S Aes
T AESAAY (BBE)
Cro: oIz oty) CLE-E
A BB O(B) - NEAY - BAS Of o e Hl R =2
Lt.6~72 130,000 x2H x 12 3,120
Ct.8=0I5t 120,000& 6 H *12& 8,640
05 ZESFOHI 17,378 18,507 A1,129
1.2 E S It 173,773,000&%1.2/12 17,378
06 JtAHXI&HI 29,021 30,907 A 1,886
1. A X2 I 173,773,000& *16.7% 29,021
203 AR F&| 9,960 9,360 600
01 JI22FURFLAY| 6,600 6,000 600
1.0/ 22Z g2 =& 550,000& »1Z «12& 6,600
02 HAINMHRFEHI 360 360 0
1. 820tat g 2= A| 40,000 x9H 360
04 RBEN2IYRFLEYI 3,000 3,000 0
1.2N2ZHRFAH| 250,000& * 123 3,000
204 HPAH| 15,900 16,320 A420
01 HAéSHRAHZH 1,800 1,800 0
1. 8H#gHRFEY 1,800
.= 150,000 1H x 122 1,800
02 Hs=E2xHl 14,100 14,520 A420
1. 832Xl 14,100
t.5=2 250,000& 1H =12& 3,000
Lt.62 155,000 1 x12& 1,860
Ct.7= 140,000& *1H * 123 1,680
ct.8~9= 105,000 6 H 122 7,560
|23l 51,637 45,836 5,801
Jl22Z | 51,637 45,836 5,801
201 Let3| 26,057 22,556 3,501
01 At 2teld] 11,155 10,408 747
(Let=>EHl) 8,055
1. 22824 300,000& 9 2,700
2.0HIZERAIRES 100,000& *12& 1,200
.AO0MERIED EH/E™H
200,000& »3CH 53] 3,000
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SN

scie
M MHSAAY (ATE)
ool Jl=2 | (S5l &2)
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
450ES 5 xRU2RA
30,000 = 15B0X 450
505N L2ELE X 45, 000& *5B0X 225
6.01=0|e|& 20,0002 x2J x12& 480
(2d4+d) 400
1.9 &84 40,0002 %110 400
(SzHl) 2,700
1ol2gRLHS AL
5,000 x5A!1x9H « 12& 2,700
02 222244 14,902 12,148 2,754
(2222 2 HMA) 10,608
1.28= 2,880
Jb. Bt 2503 12024 x12& 360
L. S0I 1,750« 12024 x 12& 2,520
2.80|12 400,000 «12€ 4,800
3. 40122 150,000 x12& 1,800
4. 8HINEEE2 200,000 x23| 400
5.9/ Y AIE = 17,0002 2[H*12& 408
6.0|EXtEE 2 110,000 20 x 13 220
7.HSAIEH A HABSES
100,000 x 1 A~ % 13] 100
(A 2H|) 2,996
1. AR A 1,300 %4 £ *8A| 2 *90 L *80% 2,996
(A& ZHIKXHl) 1,298
1. 8ANHSER XY 500,000 500
2.012ZX2A ¥ 20 200,000 *2CH 400
3.8 21,0002 x1CH«12& 252
4 E2QIE0IANAE ST E4H|
12,1002« 128 146
202 (4| 23,280 23,280 0
01 =Z2Wob] 4,800 4,800 0
1. 2L Y] 20,0003 x 10 x2H x12& 4,800
02 EHMHHI 18,480 18,480 0
1.8 220,000& x7H «12& 18,480
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1o
uJ
A0

0
30
1o OB
UJ RO
A0 w0

2N
2
chel:

Jé-IxH~

of
’J
oF
oJ

=]
0
H

m

e

n0

KIo

Bl w

2,300
2,300

LH3r
m<l
Rk

=
o

s

<J

2,300
2,300

2,300

405 Xt

ulr
RF

=)
=

4+ 1CH

2,300,000
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12 ? A
B R(B) - MEAY - BES e 2
731,653 705,961 25,692
Ho SR (RHX0S) 170,050 170,178 A128
23 170,050 170,178 A128
& 143,810 144,010 A200
dutE A= 143,810 144,010 A200
cl - Bt ES2 s 143,810 144,010 A 200
ERat=t=-— gl 137,760
=g 200,000& 42 128 100,800
a0= 200,000& *42H x23] 16,800
Bloj= 20,0003 42 x23| * 12 20,160
=4 25,0003 *121H »23] 6,050
MEgtE2 082 21,000 21,360 A 360
2 et2 A | 21,000 21,360 A 360
f2teldl 21,000 21,360 A 360
gr=2Hl) 1,800
XX HE 2 150,000& 123 1,800
(28=4) 19,200
FOUTXI A Z A S 19,200
b 82 A 25,0003 *8A| 2tx12& 2,400
L. =XI& 25,0003 *8A| 2t+12& 2,400
Ch.oteua 25,0003 *8A| 2tx12& 2,400
et AZ=HA 25,0003 *8Al 2tx12& 2,400
OF. 220l 25,000 *8AI 2+ 123 2,400
Ht. 2Jtw 4l 25,0003 *8Al 2tx12& 2,400
AZES WA 25,0003 *8A| 2tx12& 2,400
Ot.8t=014 25,0003 *8Al 2t+12& 2,400
Xl2tel 5,240 4,808 432
QI2t01 ™ 5,240 4,808 432
122 = 5,240 4,808 432
ol tidse2
200, 0003 #2042 % 12 4,800
HAZIIG T 2L
110, 0002 20 A x23] 440
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FEHEOFS
HY2HZH (REHZO0FS)
el |
_ _ _ Muo
SA - EE L SR(E) - MRAY - HAS Abod i
2 ZH(SEHEO0IS) 561,603 535,783
A2 482,559 461,247
23 482,559 461,247
101 el2h] 448,759 428,147
01 Jl== 289,665 273,759
(22) 267,383
1.5=2 (318 8) 2,961,300 x 1123 35,536
2.62(2653) 2,485,400 x2H x12& 59,650
3.72(1588) 1,862,700 x3H x 12 67,058
4.8=(62E) 1,213,700& *4H x 12 58,258
5.93(588) 1,028,900 x2H x 12 24,694
6.01s9=2 (265 3) 1,848,900 x1H x 123 22,187
(&02) 22,282
1.82+¢ 267,383,000& +1/12 22,282
02 =% 47,862 47,077
(Z2224) 17,450
LA 22+
7,457 3 x15A 2Hx13H + 128 17,450
(B 30,412
1. 4SS 412
b =& 51,4003 x2Z *47| 412
2. t&5=¢ 8,160
Jb B Xt 40,0002 «9H « 122 4,320
Lt.JIE 20,000& 16«12 3,840
3.82==Eot3 9,600
Jb.25E 01 & 130,000 2«12 3,120
Lt.20E 0] &H-25 0] Bt
110,000 2«12 2,640
Ch. 154 01 &H-20E O] Bt
80,0003 »2ZH «x12& 1,920
ct. 10 01 &-15= 0 et
60,000 x1H~ 123 720
O.58 01 &f-10& 0] 2t 50,0003 »2EH «12& 1,200
4. 82 70,0003 *x12H x 128 10,080
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2N PHEO0IS
M HHRHAH (REEZO0S)
chol: o2l 2ot (et9l: &2
By . oe CHEAY - EHAS Ak ais s
Oil &k o8
5.At8 =Xl 30,0003 »2EH «12& 720
6.21HR 30,000& »4H » 122 1,440
ZAgaltl 20,280 20,280 0
Mg Al 130,000& «13H x 123 20,280
nE2 x| 19,560 19,560 0
e 19,560
ot.53 140,000 1H x12& 1,680
Lt.6=-7= 130,000 5 »12& 7,800
Ct.8=20lI5t 120,000 *7H x 12 10,080
HE SOt 26,739 25,270 1,469
FEZF I 267,383,000&*1.2/12 26,739
DIy (DNE=Ys] 44,653 42,201 2,452
HAIKI A I 267,383,000& *16.7% 44,653
PE =& 11,420 10,720 700
J22dy 7,900 7,200 700
229 7,900,000& «1H 14 7,900
A& 520 520 0
Ao 40,0003 13 520
FAN2EY 3,000 3,000 0
FN2EY 250,000 * 123 3,000
oL 22,380 22,380 0
ESES e gee 1,800 1,800 0
AHZARE 1,800
.= 150,000 1 x 122 1,800
Az E X 20,580 20,580 0
JESE= Ly s] 20,580
t.53 250,000 1H x12& 3,000
Lt.6=2 155,000 2 122 3,720
Ct.72 140,000& *3H 122 5,040
ct.8-9= 105,000 7 x12& 8,820
79,044 74,536 4,508
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SN RHEOIS
g AY2SZHI(PEHE0IS)
ctel: Jl2 3l EER-E

_ _ - MEg
SN -BH - S(B) - MRAY - BES Off &F oA il b o HRE2
Jl=&ddl 79,044 74,536 4,508
201 LEHRHH| 43,384 40,376 3,008
01 AtR2teld 16,740 14,964 1,776
CEEETT 1,720
1. 2A2S =24 300,000& »13H 3,900

200,000 *5CH *53] *70% 3,500
3.0502 20,0002 23] 122 480
4.ZS2SE2ER 30,0002 «2B0Xx 122 720
5OAAUZUNLIEN 45,0009 «2B0X+ 122 1,080
6. 2AFEIIE 150,000+35] 80% 360
7.2AIIEY 50,0002 *43| *80% 480
8.0/l 2L RARSE 100, 0002 * 122 1,200

(29+9) 400
REEE 40,0002 12 *102 400
(2H1) 3,900
1ol eass2Z Ay
5,002 +541 132 * 128 3,900
(Ax2) 720
=B ] 20,0002 *3CH 122 720
02 ZZ2YH 26,644 25,412 1,232
(2223 2 XA 22,823
.22 6,900
oh. 2 25021 %20021* 12 600
Lt. S0l 1,75021%30021 + 122 6,300
2. 92HI(X0FHE2)
1, 30021 *5L*BA| 245902 70% 2,457
3.WIIB(ELTE) 1,000, 00021 +122 +00% 10,800
44514223 80,0002 122 90
5.2ANERLB(NEE) 70,0008 %23 140
6.EANLLLS(BHILY)
65,0002 * 1CH 23] 130
7 HAEHASAE 100,000 * 10 4 18] 100
8.OEHUAIEE 16,0002 *3CH 122 576
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SN REHEOIE
HE: #H2 A (LHE0S)

&l Jl=Z 4l (el =
_ _ _ Muo
SA-E . S(E) - MEAY - BES O & o4 e SImE=ET
9. ¢HEXNHEER 450,000 *1CH*12] 450
10. & E XHE XS XHA 30,0003 *1CH*13] 30
M.0IEXEE = 70,0003 *3CH*13] 210
2. HEXNSEHIBM==Z
70,000 *1CH*12] 70
ONF=F=1sIE=DNI:]D! 3,821
1LEMNAS KX ESH 500,000& 500
2. LS 100, 000& »2CH 200
3.01ExX=A & RIFH 120,000 »3CH 360
4 HEIE 7=l
200,000 »1CH+ 122 +80% 1,920
5. X ==cltl 100,000& 43| 400
6. 2= =Xl 22l 50,0003 =3CH 150
7. 2EAIARMF R E 24|
12,1003 123 204 & 291
202 Oddl 33,360 33,360 0
01 =LAl 9,600 9,600 0
1.2l 20,0003 102 x»4H « 123 9,600
02 A0 23,760 23,760 0
=] 220,000 9 122 23,760
405 XHAHESHI 2,300 800 1,500
01 XA ESEHSHI 2,300 800 1,500
1.2157] 2,300, 000% = 1CH 2,300

_84_




20
B
2

704,997

658,810

106,890

103,355

106,890

103,355

90,130

84,620

90,130

84,620

200,000& 26 B x 128
200,000 26 »23]
20,0003 x26H 23|« 12&

25,0003 97 23|

90,130
85,280
62,400
10,400
12,480

4,850

84,620

12,240

13,045

A 805

12,240

12,240

120,000 =122

25,0003 x4 Al 2123

25,0003 *8AI 2++ 12
25,0003 *8AI 2++12E

25,0003 *8Al 2t+12&

25,0003 *8Al2tx12&

12,240
1,440
1,440

10,800

10,800

1,200

2,400
2,400

2,400

2,400

12,240

4,520

5,690

A1,170

4,520

4,520

170,000 +201 2+ 1200

110,000& *201 2 +23]

4,520

4,080

440

4,520

02
0
HO
02
(o

598,107

555,455

42,652

re
J
H0

02

525,364

484,390

40,974

e
J@

H0

525,364

484,390

40,974
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2A HES
M HH2HZH(2ES)
£l el 2| 1Ee
= X . CIo (S BAIY . HAHAZ CEE 2
2N -3 - S2(3H) - NNEAME - HES (4] AFCH =
— T

o124 d| 491,184 452,490 38,694
=5 313,804 287,701 26,103
(2=2) 289,665
1.52 (265 8) 2,871,900& x1H + 122 34,463
2.63(295 =) 2,555,600 »2& « 122 61,335
3.73(14s ) 1,816,000& »4H 12 87,168
4.88(458) 1,096,400 »2& « 12 26,314
5.92(483) 973,900 38123 35,061
6.0ls9=(288 ) 1,888,500 »2& « 122 45,324
oH3) 24,139
g2+ 289,665,000& *1/12 24,139
g 57,078 54,041 3,037
(2R 18,792
LAIZARAZ RS
7,457 3 «15A 2t 14 128 18,792
M) 38,286
1. AESHl == 3,779
.5 51,4003 x2H %47 412
L. DSsha 420,790 x2& x47] 3,367
&= 9,120
b Ui Xt 40,0002 «9H « 122 4,320
Lt. JIE 20,000& »20& ~12& 4,800
H2FEomts 11,160
Jb.25E 01 &f 130,000& »4H 122 6,240
Lt.20E 0] &~25 0] 2t
110,000 x1E *12& 1,320
Ct. 158 0l &t~20H 0] BF
80,0002 x1&H~12& 960
ct. 1080l &8~15= 0] ¢
60,0002 x2&H 128 1,440
OF.5E 0l &f~10& 01t 50,0002 x2&H x 128 1,200
LR 30,0002 x4 =128 1,440
5. A EXHRE 30,0002 x2&H x 12 720
S2RE 70,000 x 13«12 10,920
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SN B2S
HH: UHSEAY (WS
chol: o2l 2ot (et9l: 22
SN (B) - MBEAY - B2 Aol Soe HRZ2
7 HeIRE+L (622182 E)
1,990, 300& *4 .8%* 12& 1,147
H M ZAH| 21,840 20,280 1,560
Yo ZAH| 130,000 x14H = 12& 21,840
wWEEXHI 21,120 19,560 1,560
WEBXH| 21,120
ot.53 140,000& 1 =128 1,680
Lt.6~72 130,000 x6H x 122 9,360
Ct.8=20lot 120,000 7« 12& 10,080
H &SIt 28,967 26,557 2,410
HEFOH| 289,665,000 x1.2/12 28,967
JHAI K & HI 48,375 44 351 4,024
OFAI R &I 289,665,000 *16.7% 48,375
Qx| 0,120 9,520 600
I 22 R2=8Y| 6,600 6,000 600
I2A2HGRFAY| 550,000& x1H ~12& 6,600
HRAINMHRF R 520 520 0
HRAINNMERFAY| 40,000& x13H 520
EN2IHERFEY| 3,000 3,000 0
ENSIYEFFE 250,000 x12& 3,000
M2 HAH| 24,060 22,380 1,680
NI AR A 1,800 1,800 0
XNUIAS R (SH)
150,000& x1H x 122 1,800
A2 Xt 22,260 20,580 1,680
A2 E X 22,260
t.52 250,000& x1H 122 3,000
Lt.62 155,000 »2H «12& 3,720
Ct.73 140,000& *4H = 122 6,720
ct.8~92 105,000 7 = 12& 8,820
72,743 71,065 1,678
=Rl 72,743 71,065 1,678
282 AL 36,173 35,205 968
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SN B2S
Mo U™ AR (VES)
Sl J1=2 | (£ @8
_ _ _ N E
SA-BH.C(BH) - HRAY - B Ofl &t o Gil it o Rz
01 At 2teld| 16,730 16,640 9
(Qer2H) 11,470
1. 2N 2| 30000021 %133 3,900
2.-REANS2D2Y 100,000 * 122 1,200
302 RAREE 100,0002! %122 1,200
4.TRIE EH/CY
150, 00021 *5CH x33] *80% 1,800
5.0 2/ 20,0002+ 1CH*102] 200
6.0157] YA (=M M)
25,000 *2J*33] 150
7.Z0S=SE22E 30,0002 * 12box 360
8.oAZHLZ SN 45,0002 * 12b0x 540
9.2 AR 16,000 *30box 480
10.2AESI EU 100,0002! #2CH +33] 600
1.2 A0 £ 130, 00021 *2CH x43] 1,040
(2g+9) 400
EEES= 40,0002 %12 %102 400
(S) 3,900
1.012ge4+s S2ZAY
5,000% ¥541 %138« 128 3,900
(Ux8) 960
LXK SH=TLIH SHHARNE
400, 00021 *35] +80% 960
02 TT2Y| 19,443 18,565 878
(B2RILHA 1,108
ewe 2,988
I 25021 %10024 %122 300
Lt S0l 17602112821« 1224 2,688
2.®Il7 450,000 *122 *80% 4,320
3.astsEE 100, 00021 * 1224 *90% 1,080
4. BAWARYS 200,000 *23| 400
5.0 UYASE
15,0002 *25] & %122 360
6. xTHAR 10,0002 *13] 100
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2N B
6OH

X{ ZH -
S =

el 0l all EERL
SA-ZH - S2A(3AH) - MEAME - HES Off & 2K %Egﬁ Blus
7. SEYXE 390
I ASAEE = 200,000& =12l 200
Lh 8B RE3 65,0002 23 130
Ch. XtS XAl 30,0003 12| =1CH 30
ch. 3B M2 30,0002 12| = 1CH 30
8. &cIHIO0IE 1,470
I mANExrx2 10,0003~ 123 1,320
L. EII M2 150,000& *12] 150
(H=24l) 4,498
TLEAMJIAANER 500,000 x6& 3,000
2. 5824 1,300& *4 £ *6 Al 2Fx60 L *80% 1,498
(AIE8ZHI = XIHl) 3,837
1.EAMAS 2,000 »858.3m 50% 859
2. 2L ST 100,000 2CH+80% 160
3.2AHE S 100,000& »2CH 200
4. 8330145 20,0002 #3CH*12& 720
b. 58I F=FHI
120,0003 « 1CH 122 +80% 1,152
6. &I 7 A2 b 100,000 =6 CH 600
7. 2SN AR E
12,1003« 122 146
202 04l 36,000 33,360 2,640
01 =2UWoHI 9,600 9,600 0
1.=2WHAH 20,0002 *10L x4 &« 122 9,600
02 2H04dl 26,400 23,760 2,640
T.2H0bI 220,000& x10E ~12& 26,400
405  AHAHR SH 570 2,500 A 1,930
01 TR E=FHSH 570 2,500 1,930
1T.d30 450,000 *1CH 450
2. 837 40,0002 *3CH 120
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= PSR
Za: Fo A EHo C2(BE1S)

Eel: ZolME2Y CLE-E
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
BHE1S 643,328 644,143 1815
F0l Y HO T2 (EHEIS) 138,564 136,404 2,160
FOIMdEHEY 138,564 136,404 2,160
SEEX 113,840 121,520 NT,680
301 Let8Aa3a 113,840 121,520 AN7,680
05 S-2-EEs2aa 113,840 121,520 AT,680
|EmagUHSY 108,240
. ol2sg 200,000& *33H x12& 79,200
L. &2 200,000& *33H *23| 13,200
Ch.3l ol &5 20,000& 33 »23| x 128 15,840
2.8 &G 25,000 112 *23| 5,600
FUNMEHE2IULY 15,440 11,100 4,340
201 B9y 13,440 11,100 2,340
01 AtR22id] 13,440 11,100 2,340
(2et=24]|) 1,440
1. = XX HE =2 120,000 128 1,440
(BE4+H) 12,000
1.0 X AEH A 12,000
b AZRHA 25,000& *8Al 2tx12& 2,400
L &2 wa 25,000 *8A| 2tx12& 2,400
=2 M0 na 25,0002 *8Al 2Fx 12 2,400
CI== YN mES! 25,000 *8A| 2tx 128 2,400
OF. =20 ma 25,000 *8Al 2Fx 12 2,400
405 RAHAFS SHI 2,000 0 2,000
02 S MTHI 2,000 0 2,000
1. 0S80 32| 2,000,000& *1A! 2,000
HAR X 22 9,284 3,784 5,500
307 QIZtolA 2,284 2,284 0
05 oIt 2,284 2,284 0
1.2old 2= 172,000& x 128 2,064
2.AMOUNMNEHUM S
110,000& *1JH A %23 220
401 AIEHIZL =204 7,000 1,500 5,500
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SN BHE1S
Za: Fo A EHo C2(BE1S)

CHl: FOIME 2 CLE-E
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
01 A&l 7,000 1,500 5,500
1.E3ASHE =3 A 7,000,000& * 14! 7,000
HYSHHHI(HE1S) 504,764 507,739 AN2,975
olzi 2| 440,242 447 341 A7,099
ol 2ZH| 440,242 447,341 AT7,099
101 el t| 409,042 416,321 AT,279
01 Jl== 262,093 267,795 AN5,702
(82) 241,932
1.53(30&8) 2,961,300& 1H 123 35,536
2.62(2453) 2,427 4002 2B =128 58,258
3.73(1458) 1,816,000 *3H » 123 65,376
4.82(628) 1,213,700& *3E x12& 43,694
5.92(6588) 1,085,200«3Y x12& 39,068
(A=) 20,161
.82+ 241,932,000& *1/12 20,161
02 =g 45,512 45,564 A52
(X224 16,108
EECEN=
7,4573 x15A| 2t 12H « 123 16,108
(BH=g) 29,404
1. AEEHEESY 1,684
L. DS&tM 420,790 x 18 x47| 1,684
2. t5Y 7,440
Jb B < At 40,0003 x7H«12& 3,360
Lt.DIEt 20,0003 14«12 3,360
Ch.ZEIHAMAHA) 30,000 x2H 122 720
3.82==HIt3 9,240
Jb.25E 0] & 130,000 2 x12& 3,120
Lt.20E 0] & 25 0] Bt
110,000& *1H x12& 1,320
Ct. 155014 20= 01 €t
80,000 x1H x12& 960
ct. 1001 & 15012t
60,000 x2H = 12& 1,440
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M HEIS

Y MY 2HHHI(EHE1S)
chl: Q2 A (ctel: &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
Ot.5E 014 104 0] 2t 50,0003 x4 «12& 2,400
4. 212A2+4 30,000 x3H »12& 1,080
582X R 30,0003 2 «12& 720
6.s2F+Y 70,0003 *11H~ 122 9,240
03 ZFAHZ A 18,720 18,720 0
1. 8 Z Al 130,000& * 12 123 18,720
04 wWES 2 18,120 18,240 A120
1. =2 | 18,120
t.5= 140,000& 1E =12 1,680
Lt.6-7= 130,000 5 12 7,800
Ct.8=0I5t 120,000& 6 H * 12 8,640
05 HWEFOHI 24,194 24,720 A526
1.2 E S It 241,932,000&*1.2/12 24,194
06 JFAHIXI&HI 40,403 41,282 AB79
1. LA R & HI 241,932,000& *16.7% 40,403
203 SR F&H| 10,080 9,480 600
01 JI22IYRFEY| 6,600 6,000 600
1.0/ 22 R F8| 550,000& »1H «12& 6,600
02 FJAIHRFEY| 480 480 0
1. E|ItatH 2= AH| 40,000& 12 480
04 PN2IYRFLEYI 3,000 3,000 0
1.2N2ILRFAH 250,000 * 123 3,000
204 Z gAY 21,120 21,540 A420
01 ¥ SHSHAH| 1,800 1,800 0
1. 8#g PR =AY 150,000 *1H x12& 1,800
02 HsE2xHl 19,320 19,740 A420
1. 822Xl 19,320
t.53 250,000 1Y x12& 3,000
Lt.62 155,000& »2E = 12& 3,720
Ct.7= 140,000 3 122 5,040
ct.8=-9= 105,000& 6 H *12& 7,560
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2A: BHEIS
Y MY 2HHHI(EHE1S)
@ Jl23l s

=] X ZH . ClO (5 SALO . HAM 2 Al OH HEE - =2
Jl2&dl 64,522 60,398 4,124
SIEET 64,522 60,398 4,124
201 L3 30,662 29,438 1,224
01 At 2teldl 15,460 14,376 1,084
(ger=&4l) 11,460
1. 2K =EH| 300,000& x12H 3,600
2.0lHZE AR ESHI 100,000& = 12& 1,200
JLEBHEH/EE 7YY
150, 000& *5CH 73] *80% 4,200
4. SAIIREMNESIIEH AL
150, 00021 *2CH +35] +80% 720
5.21&0|2l272 el 20,0003 20 = 12& 480
6.OAZHHLIEN T
45,0003 x 12t A %123 540
7.Eos=sE=Y RN R
30,0008 *28¢ A + 122 720
(28=%) 400
1.9 . =824 40,0003 x1Hx10 400
(= &l) 3,600
1.7/ 28R E20AH|
5,000 x5l x12H x 12 3,600
33224l 15,202 15,062 140
(E323LHA) 12,970
1.2HR= 6,660
Jb. et 2503 x12024 128 360
Lt. Sl 1,750 30024 =12 6,300
2. 40232 40,0003 12 480
3.23BMNERE S 50,000& »23| 100
4. 80123 450,000 * 123 5,400
5 8stx&AR 150,000& * 13l 150
6. HEHMAQHUAER 15,000 = 12& 180
(NEZHIRX) 2,232
1.23AMAS 1,897 & x677.69m 1,286
2.2AESED] 200,000 = 1CH 200
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AN EHHE1IS
HE: HH2APHI (BEI1S)
£l 0|2 2| (St &g
_ _ _ Muo
SNBSS - MBAY - BES 0l & 2 i HDZ
3.8=7 100, 000& 20 22 400
4. HZYSEH 100,000 * 1CH 100
5.& 7] 50,000 #2CH 100
6. = EOIAIAE 12,100& * 122 146
202 Oddl 30,960 30,960 0
01 =2UWnbI 7,200 7,200 0
1. = LHO4 I 20,0002 x 10 «3H ~12& 7,200
02 EN0HI 23,760 23,760 0
1.2 A0 220,000+9& 128 23,760
405 XtobESHI 2,900 0 2,900
01 NAXESEH=HI 2,900 0 2,900
(= =a=) 2,500,000 = 1CH 2,500
2.2AHH ST 400,000& = 1CH 400
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C EHE2SE
L F0l BN Ho| CO(HELE)

FolIME 2o (el o
_ _ _ MEc
SA B S(3) - MEANY - B 0 &t g HDE2
= 600,653 605,847 5,189
Bl N PO O (EE2E) 140,604 106,314 34,380
FOIMESY 140,604 106,314 34,380
vz 124,250 97,010 27,240
01 YstEa 124,250 97,010 27,240
6 S-2-BRESEAZ 124,250 97,010 27,240
I smsgussy 114,800
5. JlEsg 200, 0002 352 » 122 84,000
L. a2 200, 0002 #3524 5231 14,000
Ch SlOI&A4T  20,0002x35% 23]+ 128) 16.800
2. BiEAg 25,0002 * 1892 5231 9,450
FOMAMEEIZ Y 2 13,440 6.000 7,440
201 s 13,440 6.000 7,440
01 A=zl 13,440 6,000 7,440
(2era2H) 1,440
1. FOIRRIME 2 20,0002 122 1,440
(2y+g) 12,000
I IR RME 2 A 12,000
5. gRna 25,0002 +8AI 24+ 122 2,400
Lh, ARXUA(ZZE)
25,0002 +8AI 2+ 122 2,400
Ch ARXUA(S3E)
25,0002 «BAI 2t+ 122 2,400
2. 2otna 25,0002 +8AI 2H+ 122 2,400
O BRDA(ASHFE
25,0002 +8AI 24+ 122 2,400
FART 2 3,004 3,304 300
307 B12H0IE 2,404 2,404 0
EEEEEE 2,404 2,404 0
I PoIAUIBRANEALE 82,0008 122 2,184
2. BARIGNHBAYBALE
10,0002+ 174 £ <23} 220
201 NEHLR0Y 600 900 2300
01 A& 600 900 2300
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SN BE2S
Za: Fo A Ho C2(EiM2S)

crol: =olME Y CERE
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
T 600,000 *12] 600
HYSHHHI(EHE2S) 459,964 499,533 A 39,569
23| 398, 165 441,447 N43,282
ol 29| 398, 165 441,447 AN43,282
101 o124l 368,825 410,847 N42,022
01 Jl=a 230,833 262,992 30, 154
(232) 214,927
1. 52(082) 2,961,3002 + 12 122 35,536
2. 63 (2838 &) 2,395,900& x1H +12& 28,751
3. 72(1028) 1,605,000& *3H x12& 57,780
4. 83(628) 1,213,700 x5 122 72,822
5. J1s83(1588) 1,669,800& 1 +12& 20,038
(&02) 17,911
1. 32 214,927,000& *1/12 17,911
02 =¢ 44,881 46,196 21,315
(2222 14,765
I ETEEPe
74572 % 15A1 24112+ 122 14,765
(4G 30,116
1. AESHI XS 1,890
ot =8 51,4003 x 1 %47| 206
L., DSstA 420,790& x 1 *4 7| 1,684
2. =Y 7,560
Jt. BHS Xt 40,000 x8H x12& 3,840
LF. DJIEH 20,000 * 14+ 122 3,360
Ch. FIOHAMAA) 30,000& x1H 12 360
IE-EPS=SIIAE 8,400
Jb. 2540l &t 130,000& 1+ 12& 1,560
LF. 20510] A~2510] 8
110,000& »2H «12& 2,640
Ct. 150l &~20 0] 0t
80,000& x1H *12& 960
2. 10410] Ab~151 0] Bt
60,000& x2H 122 1,440
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SN
X XH .
(= I

chel:

SNBSS - HRAY - BHES 0 & o4 e HIRZE2
0. 5E014&H~10E 0] Bt
50,0003 x3H 122 1,800
4. QIRAARH 30,000& x4H x12& 1,440
5. 8284 70,0003 x10Y9 =122 8,400
6. AlaIEXER=E 30,0003 »2H «12& 720
7. HSERALL USR0S E)
2,961,300 *4.8%* 1 12 1,706
03 HAZAH| 17,160 18,720 A 1,560
1. §HZAH| 130,000& *11H x12& 17,160
04 wWES2xHl 16,560 18,120 A 1,560
1. WESEXH 16,560
Jt. 52 140,000 1H x 12 1,680
Lt. 6-7= 130,000 4«12 6,240
Ct. 8-9= 120,000& 6 H = 12& 8,640
05 ZEFIHI 21,493 24,277 AN2,784
1. SE SO 214,927,000&*1.2/12 21,493
06 JFAHIXI&HI 35,893 40,542 24,649
1. JHAIXI&HI 214,927 ,000& *16.7% 35,893
203 YRFL&Y| 10,080 9,480 600
01 JI22dPRF=L8] 6,600 6,000 600
1. JI22Z YR8l 550,000 x1H »12& 6,600
02 HRINHFRFEY 480 480 0
1. SJJERFE| 40,0003 129 480
04 RENM2IIRFLEY 3,000 3,000 0
1. EA2I G| 250,000& x12& 3,000
204 o4z 19,260 21,120 A 1,860
01 H¥SHSHAY| 1,800 1,800 0
1. G YRFAH| 1,800
. s% 150,000& 1H =123 1,800
02 Az=2x| 17,460 19,320 21,860
1. =224 17,460
Jt. 538 250,000 18123 3,000
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N HHE2S

mu: s E e ey (&S
ool 22| (232
B . M. CHe (5 SALO] . THA 2 Al OH HEE =2}
Lt. 62 155,000 1H x12& 1,860
Ct. 7= 140,000 *3H *12& 5,040
ct. 8-9= 105,000 6 H 123 7,560
Jl22Z 4l 61,799 58,086 3,713
=2 61,799 58,086 3,713
201 Lt 30,219 27,126 3,093
01 At®R2teldl 14,659 13,349 1,310
(ger249dl) 10,659
1. 2NM2EEHI 300,000& 124 3,600
2. diOIMESHEN
120,000 & *4CH *53| *90% 2,160
3. diOIMEZSHEH 120,000 *4CH *23] 960
4. e1sJ|el& 20,0003 20 = 12& 480
5. 8= MIEH/2AIE S|
150,000 *2CH *23| 600
6. FUSESE==2L=2EX
30, 000:& *20box 600
7. AASINLESEX 45,0003 *15box 675
8. =AEX 16,0002 *24box 384
9. IHIZSERARES 100,000& *12& 1,200
(29+4) 400
e 40,0002 * 12 10 400
(22l 3,600
1 olzgesusazAY
5,000& x5A x12H x 122 3,600
02 22224l 15,560 13,777 1,783
(SZ22LHA) 10,949
1. REZ 3,960
Jb, Bt 2503 x13024 128 390
Lt. SII 1,750& 17024 = 12& 3,570
2. ®llg 450,000 =128 5,400
3. ot x 50,000& = 12& 600
4. BENERLS(NEER)
70,0003 23| 140
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2A: BHE2S
Y Y 2HAHI(EHN2S)

&2l Jl2&l (e ®2
SMN-HHM .. AHA(SH) - MRAY - BES O AF K dd = Hlw &2
- o= T - = oS = =5 0:”/&,% Lsa
5. P AMAMOIEU08R
16,0002 %20} * 122 384
6. XL T 130,000& * 12l 130
7. SHIXNHEER 250,000 *1CH*13] 250
8. SHIAXNHHIFLAANSTE
55,0003 x1CH+13] 55
9. SHEXSIHA 30,0003+ 1CH+12l 30
(¢d=24l) 1,404
1. At2 4 1,300& *3 £ *4Al 2t%90L 1,404
(A& EHISXIl) 3,207
1. A2 2,000& «633.38m’ 1,267
2. HHLYSFHI 200,000 14 200
3. SAESD] 150,000 *1CH 150
4. H=D| 16,0003 =2CH = 12& 384
5. dEXNERFEL
80,000& »1CH =122 960
6. L7 50,0003 »2CH 100
7. SOIEQIAARKIE 21|
12,1002 1~ 122 146
202 OiHl 28,080 30,960 A2,880
01 =Wobl 9,600 7,200 2,400
1. = WAL 20,0002 10 4 H =12 9,600
02 NN 18,480 23,760 Ab5,280
1. AN 220,000& «7H =12 18,480
405 KHaHFSHI 3,500 0 3,500
01 ML ESSFHSHI 3,500 0 3,500
(MRAZ) 3,500
1. 21&D] 2,300,000& = 1CH 2,300
2. CIXIE3t0lct 350,000 1CH 350
3. SAESED] 400,0003 = 1CH 400
4, WED 450,000 = 1CH 450
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SA
X XH .
(=

chel:

20
B
2

785,402

762,326

185,900

199, 160

213,260

185,900

199, 160

213,260

167,440

174,540

AT7,100

167,440

174,540

AT7,100

20,0003 »48H 23| x12&

200,000 »48F « 128

200,000 »48H »23]

25,000 x200H »23]

167,440
157,440
115,200
19,200
23,040

10,000

174,540

AT7,100

15,840

11,600

4,240

15,840

7,500

8,340

25,000 *8AI 2+ 123

25,0003 *8AI2tx12&

U
fo
K
vz

25,000 x8AI 2+ 123

k0
£
>

-

25,0003 *8AI2tx12&

e
i
=
124

25,000 *8AI 2+ 123

o
It
EJ
[l

25,0003 *8AI2t+12&

120,000 =122

15,840
1,440
1,440

14,400

14,400
2,400
2,400
2,400
2,400
2,400

2,400

7,500

8,340

2,620

13,020

A 10,400

2,620

2,620

no

200,000& 123

110,000& 23|

2,620
2,400

220

2,620

02
0
o

02
0y

599,502

563, 166

36,336

=
J@

H0

02

520,697

483,200

37,497

e
J@

H0

520,697

483,200

37,497
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SN RS
M HHSAAL(PLS)
el Qla2dY| (982
- _ _ P NE e
2N -3 - c2(3H) - NEME - HES 0] Ao oﬁf@ Hl =2
101 Q14 484,997 448,800 36,197
01 J=2 306,036 284,068 21,968
(22) 282,494
1.53 (255 2) 2,842,800 x 1 <122 34,114
2.62 (235 ) 2,395,900 x2H 122 57,502
3.72(1752) 1,949,700 x3H « 122 70,190
4.82(632) 1,213,700 x2H 122 29,129
5.98(h52) 1,028,900 x5 « 122 61,734
6.l=s6=2(265) 2,485,400 x1H « 122 29,825
(Ao 2) 23,542
1.8322¢ 282,494,000 1/12 23,542
02 ¢ 60,574 51,879 8,695
(Z222Y) 18,792
A2t 2R4E
7,457 «15A 2t 145« 122 18,792
(Huxgh) 41,782
IPNEETI NS = 3,573
Jb.NSsHM 420,790 x2H %47 3,367
Lt. =&k 51,4002 x1H %4D| 206
2.0tE4E 9,600
Jb Ui Xt 40,0002 *0H 12| 4,320
Lt.DIEt 20,0008 x22% « 122 5,280
3. H2LEIA2 11,760
Jb.25E 0] & 130,000 x3%H « 122 4,680
Lt.20E O] At~25H 0] BF
110,000 »2H x 122 2,640
Ch. 15 0| At~20 0] BF
80,0002 x2% » 121 1,920
2t. 10 0l Af~15 0] 8¢
60,0002 12 «12& 720
0F.54 01 & ~10= 0] 8t 50,0002 x3% » 122 1,800
4. HRB24E 3,769
b2t (265 2)
2,485,400 x 1 «4 8%+ 122 1,432
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SN PAS
Zu: wESAA (RYE)
el 2| (el =
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
Lt.62 = (1958)
2,028,5002! 2% +4. 8%+ 128 2,337
5 03AR+H 30,0003 x4H«12& 1,440
6.522=¢ 70,0003 x13E «12& 10,920
7.MEEXNERE 30,000& x2Z « 123 720
ZAg Al 21,840 21,840 0
U S A 130,000& «14F =122 21,840
M=o 21,120 21,000 120
MY 21,120
t.5= 140,000 1H x 122 1,680
Lt.6~7= 130,000& »6H « 122 9,360
Ct.8=20lI6t 120,000 «7H x 12 10,080
HE SOt 28,250 26,222 2,028
LYEZF I 282,494,000& «1.2/12 28,250
JHA X & 8l 47,177 43,791 3,386
AKX 2l 282,494,000& *16.7% 47,177
R4 11,460 10,760 700
223y 7,900 7,200 700
22 HRF A 7,900,000 x1H*14 7,900
AN HRFAHI 560 560 0
FRAINHRF A 40,000 14 560
FA2IHRFA 3,000 3,000 0
FAN2EHRFEH 250,000& *12H 3,000
A=A 24,240 23,640 600
NUZAL LB 1,800 1,800 0
IMIADE 1,800
b.sE 150,000 18 x12& 1,800
g B = 22,440 21,840 600
A E x| 22,440
t.5= 250,000& 1H x 122 3,000
Lt.62 155,000& »3H « 12 5,580
Ct.72 140,000& «3H 122 5,040
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2AM: 2SS
. HHSIIH(PYS)
o2 o2 (ctel- e
HA .- M. CO (5 HALO . HA 2 Al OH dE T =2
ct.8~932 105,000 7 123 8,820
Jl=3Hl 78,805 79,966 A 1,161
Jl=3Hl 78,805 79,966 A1,161
201 LBt 42,405 40,506 1,899
01 At®2te2ldl 20,875 19,860 1,015
(Ler=5Hl) 15,975
1. 22824l 300,000& x14H 4,200
2.0lHIZHRMNRES 100,000& = 12& 1,200
3.Z2HEY 180, 000 *5CH 73] 6,300
4. Z2lHHEH 150, 0002 *5CH *50% 375
5.0180|2l& 20,000& *x2Jl 12 480
6.21371¥43 25,000& *2Jl 122 600
7.3 2HASHH| 300,000& *13| 300
8. ESESE=2LZEX
30,000& *4box*12& 1,440
9.0 UZHL=SESERX
45,0003 *2box* 122 1,080
(29+2) 400
1.9 . s8 40,0003 x1H =10 400
(22H]) 4,200
1.2 R+HE2Z A
5,000& *5A x14H »12& 4,200
(LX) 300
1. 83:0|8 X & 25,000 *1CH*12& 300
02 35224l 21,530 20,646 884
(BZL2LHA) 18,774
1.28= 6,630
Jp. gt 2503 x25021 x 12 750
Lt. S| 1,750 #2802 = 12& 5,880
2.8J1& 900,000& x12& 10,800
3.4 o2 60,000& x12& 720
4. 0HUYANERZ 27,000& *1CH*12& 324
5 388 Ler2 200,000& =13 200
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SA

R =27y
chel: Bl )
ZE - (BH) - NRAY - BaS sl Bl HlRE2
0fl &b
6.8Z3ML= £&) 50,000& *23] 100
(A& =R Xl) 2,756
1.2AMHZ 1,000,000& 1,000
2. HZPEEHH 400,000& = 1CH 400
3.2AM S| 100, 000& * 1 CH 100
4. 01EXRA 30,0003 *1CH«12& 360
5. 80| 200, 000& 1CH 200
6. HLHED] 100, 000& *5CH 500
7.7 50,0003 = 1CH 50
8.2 Q120 Al S A 24l
12,100& *12& 146
ol 36,000 35,760 240
= LHOHI 9,600 12,000 22,400
S 20,0003 10 »4H « 12 9,600
ERJCL] 26,400 23,760 2,640
=RUE] 220,000& 10H 12 26,400
AHobE SHI 400 3,700 3,300
LSS FHSHI 400 3,700 23,300
SAE ST 400,000& = 1CH 400
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2A8s
F0l sy @O TR (ASS)
FOIME 29 (St &H)
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
565,970 644,116 A78,146
MY Mo Q2 (ASE) 113,120 113,904 NT784
QM 29 113,120 113,904 NT84
SotE X 97,340 97,840 A500
301 gtz Az 97,340 97,840 A500
05 S-cl-eEssEaa 97,340 97,840 A500
1. S&+¢ 91,840
oF. JlEag 200,000 x28H » 122 67,200
Lt o&Aay 20,0002 x28% 25| x 122 13,440
Ch. &2 200,000 x282 23] 11,200
2. grESy 25,0002 x110% *23| 5,500
ZOXXIME T2 29 8,400 8,160 240
201 gty 8,400 8,160 240
01 AlR22/dl 8,400 8,160 240
(Let&H|) 1,200
1. FOUXXIAE 29 100,000 x12& 1,200
(294+9) 7,200
1. FOUXXME ZAS 7,200
Jb. Aol mal 25,0002 *8A| 2t x 12 2,400
Lt 204 25,0002 *8A| 2t x 12 2,400
C. 8t=20imal 25,0002 *8A| 2t x 122 2,400
A S22 7,380 7,904 N524
307 212t0| ™ 2,380 2,404 N24
05 QIZIRAES 2,380 2,404 A24
1. QoA 2+ 180,000 x12& 2,160
2. FARDIQHE A4
110,000 x 104 A %23 220
401 AlEH 220 5,000 5,500 A500
01 Al&t] 5,000 5,500 A500
1. FUNXAE (SR DA) &5 ZA
5,000,000 * 1 2 5,000
HHSAZH(HES) 452,850 530,212 NT7,362
ozt 392,679 465,148 AT2,469
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SN AES

HH: HHSAAH(2SS)

ool olE gyl (oA
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
ola 29| 392,679 465,148 AT72,469

101 Q14| 363,759 434,548 270,789
01 Jle=2 225,615 278,935 A53,320
(22) 208,260
1. 53(3052) 2,961,300 1 *12& 35,536
2. 63(2452) 2,427 4002 1« 128 29,129
3. 72(1188) 1,661,6002 »2% x 122 39,879
4. 82(622) 1,213,700 x4 & * 12 58,258
5. 9233 8) 919,600 x2% 12 22,071
6. JIs82(2352) 1,948,900 1 * 12 23,387
(H4032) 17,355
1. 3244 208,260,000 *1/12 17,355
02 +g 48,938 50,026 ~1,088
(ZW224+H) 14,765

7,457 3«15 A1 2Hx 1B« 128 14,765
(B 34,173
1. &5 10,440
Jb. B X 40,000 «7E~ 122 3,360
Lt JIEHFS 20,000& 258122 6,000
Ct. =2t 30,000 3123 1,080
2. NHHEHIEXE 3,573
Jb. S5t 51,4003 «1Z #47| 206
L. 1Sstu 420,790 x2& %47| 3,367
3. E2=gitt= 9,960
Jb. 259 0Ol &t 130,000 «3& x12& 4,680

Lt. 208 Ol&~254 Ofgt
110,000& 18123 1,320

Ct. 158 0Olat~20& D]t
80,000 x1&~12&8 960

ct. 58 0l&at~104 OJgt
50,000 x5& 123 3,000
4. QIRARH 30,0002 *3& 128 1,080
5. S22=+E 70,0002 x10E * 122 8,400
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SNBSS
Y WEHSAAY (RSS)
chol: o2l 2ot (et9l: 22
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
6. AlZIEXE R+ 30,000 x2H «12& 720
03 H¥ZAHI 17,160 18,720 A 1,560
1. dHZAlH| 130,000 * 11 =128 17,160
04 nNESE=xH| 16,440 18,120 A 1,680
1. nS2xH| 16,440
Jt. 52 140,000 1 =128 1,680
L. 62~73 130,000 x3H x 122 4,680
Ct. 82 0lat 120,000 7 =128 10,080
05 Y& SOt 20,826 25,748 N4,922
1. 9E 5Oty 208,260,000 x1.2/12 20,826
06 JHHKXI&bI 34,780 42,999 A8,219
1. JHAIXI & Y] 208,260,000 *16.7% 34,780
203 HRF=ZEY| 10,080 9,480 600
01 JIZ22H R4 6,600 6,000 600
1. JIASHLRFEH| 550,000 x1H x12& 6,600
02 HIIINMHRF=AH| 480 480 0
1. 3L RERH| 40,000& x12H 480
04 2ENSIELERFAHI 3,000 3,000 0
1. REASEERFXHI 250,000& =128 3,000
204 HRPHAHG| 18,840 21,120 N2,280
01 NS HR=HAHH| 1,800 1,800 0
1. AHZSHIFLHFH| 1,800
. s% 150,000 1 = 12& 1,800
02 HZEZXHI 17,040 19,320 N2,280
1. A3 2XH| 17,040
Jt. 52 250,000& x1H 122 3,000
L. 6= 155,000& x1H =122 1,860
Ct. 72 140,000 »2H «12& 3,360
ct. 82~93 105,000& x7H =122 8,820
=l 60,171 65,064 4,893
J|22& | 60, 171 65,064 N4 ,893
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SM: BES
M HHRHAH(HSS)
e =3l (ctel: &
SA - M. CHY (B SALO . HAM 2 A} OH HEE oF
201 LBHEHH| 31,351
01 At=2teldl 14,018
(get=&4dl) 10,018
1. 2N2Y =28 300,000& x12H 3,600
2. OiHIZE R AIRESHI 100,000& *12& 1,200
3. diOIMEEE EH/EH
140, 000 *5CH +4 3] *70% 1,960
4, =AM EH 200,000 = 1CH 33| *80% 480
5. WAIZZ EU 120,000 *1CH*23| *80% 192
6. ULSBNLSESEN
45,0003 »10BOX 450
7. FRUSESx= =N
30,000& »3B0X*12& 1,080
8. SAIEX 16,000 »3B0X*12& 576
9. 0I=)| 21=(B 20,0002 <20 122 480
(2o4g) 400
ITEE = 40,0002 12 +102 400
(22H) 3,600
1. Jl=eess =234
5,000 «541«12H x 123 3,600
02 232934l 17,333
(2322 £ HA) 11,046
1. 2EZ 5,850
Jb. gt 2503 x200A4 128 600
Lt SII 1,750 250244 * 12 5,250
2. 8dl= 300,000& =12& 3,600
3. o=z 40,0003 x12& 480
4, BANERES 50,000& *23] 100
5. ¢lHY AIEZE 16,0002 *3CH = 12& 576
6. 33tx HA = 150, 000& 23| 300
7. O|EXt MY 70,0003 20 *123] 140
(¢=24l) 4,493
1. AIR4 1,300& *6 £ *BAl 2+*80L *90% 4,493
(Al &HI K XIdI) 1,794
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SNBSS
M HH2AAY(RSS)
£l D12 | (Et9): & 2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl ko HRE2
1. BARIE 9002 775 698
2. ALY SEHI 100, 000& *1CH 100
3. ARSI 200, 0002+ 1CH 200
4. OIEX SFRUHE =Y 100, 000& *2CH 200
5. D] ®RX&clHl 50,0003 *2CH x4 2] 400
6. &I |22/ 50, 000& = 1CH 50
7. OISOIAAE KNP LH
12,1002 1CH* 123 146
202 OdHl 28,320 30,960 N2,640
01 =Ufoit] 7,200 7,200 0
1. =L 20,0003 102 +3H « 123 7,200
02 ool 21,120 23,760 A2,640
1. EH0HH 220,000 «8H 122 21,120
405 XHeHESH| 500 4,500 A4,000
01 XA ESEH=HI 500 4,500 4,000
1. @A NEDI 500,000 * 1 CH 500
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2N BUS
0 ¥y Ho £2(SUS)

Sl FOIME 29 CERE
SA-ZH - S2A(3AH) - MEAME - HES Off &+ o4 gl,'igig Blusz
SRS 717,224 699,905 17,319
=0 ¥MH HY E2(SUS) 170,160 171,400 A1,240

FEUHEHEZ 170,160 171,400 A1,240
SgHEXIE 159,380 159,880 A500
301 2otEH=S 159,380 159,880 A500
05 S-2-Ees2d=s 159,380 159,880 A500

1.S8-gH 2l 150,880
ol 200,000& 46 122 110,400
L. &0i= 200,000& »46H 22 18,400
Ct.2lo =g 20,0003 »46H »23| x12& 22,080
2.8t& ¢ 25,000 170 »23] 8,500
FOUNIMHEZ OS2 8,400 9,140 AT40
201 2Et=g| 8,400 8,640 A 240
01 Ar®2teltl 8,400 8,640 A240
(der==&Hl) 1,200
1.2 MR dEH 2 100,000& ~12& 1,200
(2E=+¢) 7,200
1.2 AXHE A& 7,200
b A A 25,0003 +8Al 2++ 122 2,400
Lh A=A 25,0002 xBAl 2tx 122 2,400
Ct.et=0{ & 25,0003 *8Al 2++ 128 2,400
At Al 2tel 2,380 2,380 0
307 2iz2told 2,380 2,380 0
05 2I2PES 2,380 2,380 0
1.2yl 180,000& ~12& 2,160
2.BMBD T
110, 0003 * 10K 2 %23 220
HH2IZHI(SUS) 547,064 528,505 18,559
g8 2| 475,230 459,202 16,028
elE 2| 475,230 459,202 16,028
101 el 442,730 427,302 15,428
01 JlEs 283,014 274,624 8,390
(22) 261,243
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SA: SUHsE
HH: HHS2AAH(SUS)
o QlEHY| (&te &2
_ _ _ SN E N
2N -3 - c2(3H) - NEME - HES 0f] AboH oﬁf@ Hon=s2t
1.52(305 ) 2,961,300 12«12 35,536
2.63 (245 ) 2,427 , 4009 x2H « 122 58,258
3.72(1682) 1,907, 10024 3% » 122 68,656
4.83(652) 1,213,700 32 » 122 43,694
5.98(452) 973,900 3% » 122 35,061
6.71583 (155 2) 1,669,800 12 » 122 20,038
(A 2) 21,771
.82 261,243,000 %1/12 21,771
02 g 50, 123 45,153 4,970
(2222 17,450
1At 2Ragt
7,457 15A| 2H+ 13 * 121 17,450
(ESRLES =) 32,673
IDUEET == 3,367
b DEEHA 420,790 x2% *47)| 3,367
2.IESE 5,520
Ot HH S Xt 40,000 4% x 122 1,920
Lt.JIE} 20,0002 « 152 » 122 3,600
.H2LYIAZ 9,840
Jt.25E 0] & 130,000 1H x 122 1,560
Lt.20E 0] At~251 0] ©F
110,000 x2H * 122 2,640
Ct. 154 0] Ab~201 0] ©F
80,0002 x4« 128 3,840
2+.5E 0] &~10E 0] 2t 50,0002 «3% « 122 1,800
4. 012 A DA 30,0002 *3 » 121 1,080
5.2528240 70,0002 122 122 10,080
6. ALBIEXIHRSE 30,0002 *3% » 121 1,080
7.HRERLXH(ASURIINEE)
2,961,300 * 124 . 8%+ 122 1,706
03 TOHZAlH] 20,280 20,280 0
1. M Z A 130,0002 132« 122 20,280
04 DEBXH 19,560 19,560 0
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2N BUS
B WESAAY (SUS)
chol: o2l 2ot (et9l: 22
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
1. WEZXHI 19,560
Jt.52 140,000& x1H =122 1,680
Lt.6~72 130,000 x5« 12& 7,800
Ct.820( 4t 120,000& x7H =122 10,080
05 Y&ESIHHI 26,125 25,350 775
1.9 &S IH| 261,243,000 x1.2/12 26,125
06 JHAHRXI&HYI 43,628 42,335 1,293
1. AN X &l 261,243,000& *x16.7% 43,628
203 ERF&XH| 10,120 9,520 600
01 JI229ERF=&| 6,600 6,000 600
1. 0|22 A2 =&H| 550,000 x1H x12& 6,600
02 HIAIMNMAR=AH| 520 520 0
1.3 EREEH| 40,000& %134 520
04 ENSIYERF=EH 3,000 3,000 0
1. 2EN2EHRFEH 250,000& x12& 3,000
204 XPHAH| 22,380 22,380 0
01 MHZHR=HAHH| 1,800 1,800 0
1. MBI RFEYI 1,800
s 150,000 1 = 12& 1,800
PN 20,580 20,580 0
A2 E X 20,580
Jt.b52 250,000& x1H *12& 3,000
Lt.62 155,000 »2H = 12& 3,720
Ct.73 140,000 *3H x 12 5,040
ct.8~92 105,000 7 = 12& 8,820
71,834 69,303 2,531
=Rl 71,834 69,303 2,531
282 AL 35,934 35,703 231
AF2 22| Hi 14,189 13,958 231
QB2 H|) 9,889
1. 2N 2 =& 300,000& x13H 3,900
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2Ah: SUS

I HHRHYAH(SUS)

cel: D=3l
= N ZH . ClO (5 SAlAH . HA2 oH G
SM-FH-H2A(ZAH) - NRAY - BES Off & o8 01l AFoH

2.0l ZLURAREE 100,000 12 1,200
3.UOINZREEY
155,000 2! *4CH*35] %90% 1,674
4 YOIHERECSY 200,000 *2CH*13 400
5. 2AIEH 120,000 1CH*33] 360
6.01=0|212 20,0002 *1CH*12& 240
7. AL E 180,000 x1CH*33] 540
B8.OAZTHNLZEX 45,0002 *1580X 675
9.F0s=Esx2L3E 30,0002 *30B0X 900
(2g+d) 400
ISR 40,0002 x1Z*10L 400
(S=l) 3,900
1.J|2gR#E20 AL
5,000 54! x13% « 128 3,900
02 324l 21,745 21,745
(BB3LSLHA) 17,176
1.2H2 6,990
Jb. bt 25021 x20024 * 122 *80% 480
Lt. S2I 1,750 %3102 x 12 ,510
2.8 800,0002! 122 +85% , 160
3.4 ER 60,0002 12 720
4. BHWERES 80,0002 *23] 160
5.0 HHUAIE R 16,0002 *2CH 12 384
B.HSEHALSLE 200,000 13 200
7.02XHABHZ 56,0002 x2CH*13] 112
g.EANNAEEE 250,000« 1CH*13] 250
0.SUMIUTHI . FUAANL2R
50,0008 %13 50
10.SHINSSINLRES
60,0002 *23| 120
NSNS XS A 30,0008 %13 30
(e12Hl) 1,820
T AR A 1,300 %5 £ %7 Al 2Hx802 +50% 1,820
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FM: SUS
I HHRHYAH(SUS)
Sl J1=2 | (e19: @8
= X o 3 = 1k Il_-ILjL:_ =
SN B SRA(SIH) - MBAY - BAS 0 & o4 e HlnE2
(A& &HISXI]) 2,749
1.2AMNHZ 1,890& »597 m* x80% 903
2. LS EHI 100,000& 14! 100
3.2AE ST 100, 000& +2CH 200
4.0l Xt 50,000 »2CH 100
5 83D EHuse 40,0002 63| 240

6. XL (RRU, ZFHI R XL, =4&Hl)

100,00021 1 CH * 122 +80% 960
7.4 50,0002 *2CH 100
8.20IS0IA| ARSI 2 2|
12,10021 *122 146
202 OiHl 33,600 33,600 0
01 =0l 7,200 7,200 0
1.2 U0l 20,0008 * 102 *3% * 122 7,200
02 2ot 26,400 26,400 0
1. 20| 220,000 10% 122 26,400
405 XarE=b| 2,300 0 2,300
01 KAUSEFSY| 2,300 0 2,300
(IS E=S] 2,300,000 * 1CH 2,300
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2AM: sES
By =0 #F MO TR(SHS)
el ZOIME 2 (sl a e
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
SAS 908,379 885,972 22,407
FO0l Y HO TR (SHES) 259,570 232,360 27,210
FOIMdEHEY 259,570 232,360 27,210
S.Bt&E 5243 227,480 229,980 A 2,500
301 Let8Aa3a 227,480 229,980 A2,500
05 S-2-EEs2aa 227,480 229,980 A2,500
1. 8882 eE S| 216,480
o2 200,000& *66H x12& 158,400
LA 2 200, 000& x66H *23| 26,400
Ch.3l ol &5 20,000& 66 *23| x 128 31,680
2.8 &G 25,000 220 *23| 11,000
ZOMEHEIR )RS 4,200 0 4,200
201 B9y 4,200 0 4,200
01 AtR22id] 4,200 0 4,200
(2et=24]|) 600
1. F0 XX AEHSF | 100,000 6 & 600
(BE4+H) 3,600
1.0 X AEH A 3,600
I8t 2 Al 25,000& *8A| 2t x6& 1,200
L. &&D| S 25,000& *8BA| 2+ *x6E 1,200
Ch.&=X& 25,000 *8A| 2t x6& 1,200
HAS K22 27,890 2,380 25,510
201 LB 5,000 0 5,000
01 ArR2t2|tl 3,000 0 3,000
1.8 HAF 0| & H| 3,000,000 * 1A 3,000
03 EAI2HEHI 2,000 0 2,000
2. BAMNS DA A 2,000,000& =14 2,000
307 QIZtolA 2,380 2,380 0
05 oIt 2,380 2,380 0
1.20AH| 22l == 180,000& x12& 2,160
2.AMEINMU# S
110,000& *1JH A %23 220
401 AIEHIZL =204 16,100 0 16,100
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M SHS
By =0 #F MO TR(SHS)
cHol: FOIME2Y (et9l: 22
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
01 Al&HI 16,100 0 16,100
1.5 g 2,000,000& 14! 2,000
2.FUEEE AHAIH 2,000,000& =14 2,000
3.E8ct2E &X 3,000,000& * 14l 3,000
QlAXeldeEE ME 500,000 =14 500
ZUHE M 200, 0003 *14] 200
6.ZOIMEASE AFE(S2HE)
1,100,000 * 14! 1,100
7.5 ®©& M 300, 0003 14 300
ZOIME O EXE 1,500,0002 *37H 4,500
SHD Y HD XYM ¥Z LX)
1,500, 0003 * 14 1,500
10. 4 A& 1,000, 0003 * 14 1,000
405 KHaHFE S| 4,410 0 4,410
AL =S FSHI 4,410 0 4,410
LIRIODIE AR (1218) 30,000& *57H4 150
RIATHOIE 9 RH(528) 70,0003 *34 210
HED 450,000 = 1CH 450
MY E 150, 000& 24 300
RE 150, 000& 44 600
S OIAE AL 100, 000& *54 500
SOIEEE 200, 000& 1J4 200
[SESIDN; 30,000 *504 1,500
& LH 3 5,000& 1004 500
HHLSHAY|(SHE) 648,809 653,612 A4,803
ol 2| 563,922 568,729 A4,807
ol 2| 563,922 568,729 A4,807
101 QIZH| 525,022 530,229 N5,207
01 JI23 333,864 337,698 N 3,834
(23) 308,182
1.52(3188) 2,961,300 x1H*12& 35,536
2.63(2258) 2,363,000 x2H x 12 56,712
3.72(1883) 1,990,300 *3E *12& 71,651
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SH: SEE
M. HYSAHH(SAHS)
o QlEHY| (&te &2
_ _ _ SN E N
2N -3 - c2(3H) - NEME - HES 0f] AboH oﬁf@ Hon=s2t
4.83(552) 1,154,400 x7H 122 96,970
5.98(652) 1,085,200 x2H 122 26,045
6.71592 (235 L) 1,772,300 12 » 128 21,268
(A0 2) 25,682
1.824% 308,182,000 *1/12 25,682
02 =g 60,032 60,340 A308
(ZU2R4E) 21,477
1Ay
7,45724%15A| 2Hx 162 * 121 21,477
M CH) 38,555
IDUEET == 5,462
Ot E &M 51,400 «22 x4 | 412
L. DSt 420,790 x3H *47| 5,050
=g 6,720
Ot HH S Xt 40,000 +6H x 122 2,880
Lt.JIEF 20,000 « 162 » 122 3,840
s =y = 8,400
Jb.25E 0] & 130,000 1H x 122 1,560
Lt.20E 0] At~251 0] ©F
110,000 3 x 122 3,960
C. 154 0] Ab~201 0] ©F
80,0002 *3% » 121 2,880
ez 2,853
42 (3152)
2,961,300 x 1 x4 8%+ 122 1,706
Lt.62UR(1852)
1,990,300 %12 4 8%+ 122 1,147
oleoiaag 30,0002 x5« 121 1,800
=225g 70,000 «15H 122 12,600
7.ME 2R 30,0009 2 » 122 720
X o4 Z AlH] 24,960
LHoHZ ALY 130,000 16« 122 24,960
NEB XY 23,880
LDEE X 23,880
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fAM SES
U AESAAY (SHE)
Cro: oIz oty) CLE-ED
A BB O(B) - NEAY - BAS Of o e Hl R =2
t.53 140,000 1H x 12 1,680
Lt.6=~7= 130,000 5 x12& 7,800
Ct.8=0l15t 120,000 *10H x 123 14,400
05 ZYEFIHI 30,819 31,173 A 354
1.2 E S It 308,182,000&*1.2/12 30,819
06 JtAHXIAHI 51,467 52,058 A591
1. A X & 8l 308, 182,000 *16.7% 51,467
203 YRFL&H| 12,740 12,040 700
01 JI22IgRFL8Y| 7,900 7,200 700
1./ 22Z YR =4 7,900,000& *1E 14 7,900
02 FRAIHRFEY| 640 640 0
1. EJAJNMERFE| 40,0003 169 640
04 BENM2ITRFLEY 4,200 4,200 0
1.2ASZ YR 350,000& x12& 4,200
204 XA 26,160 26,460 A300
01 HMSHSAAY 1,800 1,800 0
1. 3#gHRFEY| 1,800
.= 150,000& x1H = 12& 1,800
02 Hz=2xHl 24,360 24,660 A300
1. 822Xl 24,360
ot.53 250,000 1 x12& 3,000
Lt.6= 155,000 2 x12& 3,720
Ct.72 140,000 *3H 12 5,040
ct.8~9= 105,000& =10 123 12,600
Jl23d| 84,887 84,883 4
Jl=23tl 84,887 84,883 4
201 Let3| 43,847 43,583 264
01 AtE2teltl 21,232 20,968 264
(Ler=2Hl) 16,032
1.2tA 22| 300,000& »16H 4,800
2.0BI2SRARES
100,000& *2= CH =12 2,400
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SN SHS
HE: HLSEAU(SHS)
£r9l: Il =AYl (Er9): &2
_ _ _ N E
SN -EHH . (B) - MPAY - BE2 Ofl & 04 Sl aton HRE2
ECEPEEEE 180, 000 *283| *80% 4,032
4.0130|el2 20,0003 x2CH 201 128 960
5.2 A ST E 180, 000! %55/ +80% 720
6.1 ZSENL=EAX 45,0003 *2box* 12 1,080
7.FRSESERLIEN
30,0003 *5box* 12 *80% 1,440
8.2 AIEH 120,000& *53] 600
(2e49) 400
1.2=sx 40,0003 «1H+10& 400
(Shl) 4,800
101224 S20HA Y|
5,000 x541x16H 12 4,800
02 2324l 22,615 22,615 0
(ZBRILHA) 20,185
1.28= 10,500
Jb. et 2503 x35024 « 128 1,050
Lt. S 1,750% 45024 128 9,450
2.80|1= 650, 000& * 12 x90% 7,020
3.40t=E2 50,000& 123 600
4. sE1ISUHEII= 70,0003 12 840
5.SHISHASI4ER 40,0002 +122 480
6.sHEXNHEER 250,000 1 CH 250
7EHINYSANLRLS  80,0009%23 160
BEHENBEINANLHENATLAA
242 80,0002 13| 80
9. SHE XS XS XA 40,000& *12] 40
10.SHANLSBBHE2L
160,000& *13] 160
MN.0IEXNEE S 55,000% = 1CH 55
(A& &HISXIHl) 2,430
1L BARIS 1,01721+367.13m 374
2.2AHE S| 100, 000& »2CH 200
3.3 50,0002 122 600
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fAM SES
N HY2ITH(SES)
etel: D122 (el &
- _ - ez
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 BlusZ
4 SEIVZHUH(FRU, ZHIS X,
=4HHl) 100,000& *12& *80% 960
5.2==JI2 Xl 50,0002 *3CH 150
6.2 & QA AR F X E 4=H]
12,1003 122 146
202 Oddl 41,040 40,800 240
01 =LHAHI 12,000 14,400 N2,400
1. =3 o4l 20,0002 x 10«5 ~12& 12,000
02 ZNR0HI 29,040 26,400 2,640
1.2 AH0H 220,000 x11H~12& 29,040
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